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gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go
D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m OmEJm&

4. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ u {bI|&

5. (H$) n«íZ-nÌ Ho$db A§J«oOr/{hÝXr ‘mÜ¶‘ ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘| CÎma
Xo gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&
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Time : 3 Hours ] [ Maximum Marks : 100

g‘¶ … 3 KÊQ>o ] [ nyUmªH$ … 100

Note  : (i) This question paper consists of 45 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Section—A consists of :

(a) Question Nos. 1 to 20 Multiple Choice-type Questions (MCQs)

carrying 1 mark each. Select and write the most appropriate option

out of the four options given in each of these questions.

(b) Question Nos. 21 to 29 Objective-type questions. Question Nos. 21

to 23 carry 2 marks each (with 2 subparts of 1 mark) and Question

Nos. 24 to 29 carry 4 marks each (with 4 subparts of 1 mark).

(v) Section—B consists of :

(a) Question Nos. 30 to 35 Very Short Answer-type Questions carrying

2 marks each to be answered in the range of 30 to 50 words.

(b) Question Nos. 36 to 41 Short Answer-type Questions carrying

3 marks each to be answered in the range of 50 to 80 words.

(c) Question Nos. 42 to 45 Long Answer-type Questions carrying

5 marks each to be answered in the range of 80 to 120 words.

An internal choice has been provided in some of these questions. You

have to attempt only one of the given choices in such questions.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 45 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ gm‘Zo A§H$ {XE JE h¢&

(iv) IÊS>—H$ ‘| gpå‘{bV h¢ :
(a) à0 g§0 1 go 20 VH$ ~hþ{dH$ënr¶ àíZ h¢& àË¶oH$ 1 A§H$ H$m hmoJm& BZ‘| go àË¶oH$ àíZ

‘| {XE JE Mma {dH$ënm| ‘| g~go Cn¶wº$ {dH$ën H$m M¶Z H$a| Am¡a {bI|&
(b) à0 g§0 21 go 29 VH$ dñVw{Zð> àíZ h¢& à0 g§0 21 go 23 VH$ àË¶oH$ Ho$ {bE 2 A§H$

h¢& (1 A§H$ Ho$ 2 Cn^mJm| g{hV) Am¡a à0 g§0 24 go 29 VH$ 4 A§H$ Ho$ h¢ (1 A§H$
Ho$ 4 Cn^mJm| g{hV)&
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SECTION—A

IÊS>—H$

1. The counsellor advised Arnav to restrict his screen time and utilize that
time for physical exercises as that would enhance his well-being. Identify
the goal of psychological research here. 1

(A) To describe (B) To explain

(C) To control (D) To predict

nam‘e©XmVm Zo AZ©d H$mo gbmh Xr {H$ dh AnZm ñH«$sZ Q>mB‘ gr{‘V aIo Am¡a g‘¶ H$m Cn¶moJ emar[aH$
ì¶m¶m‘ Ho$ {bE H$ao ³¶m|{H$ Bggo CgH$m ñdmñÏ¶ ~ohVa hmoJm& ¶hm± ‘Zmod¡km{ZH$ emoY Ho$ bú¶ H$s
nhMmZ H$a|&

(A) dU©Z H$aZm (B) ì¶m»¶m H$aZm

(C) {Z¶§ÌU H$aZm (D) nyd©H$WZ H$aZm

2. A statistician represents the organized data by considering the midpoints
of the class intervals. This will help him to make a

(A) frequency polygon (B) bar diagram

(C) histogram (D) pie chart 1

(v) IÊS>—I ‘| gpå‘{bV h¢ :
(a) à0 g§0 30 go 35 VH$, 2 A§H$m| dmbo A{V bKw àíZm| Ho$ CÎma 30 go 50 eãXm| H$s gr‘m

‘| XoZo h¢&
(b) à0 g§0 36 go 41 VH$, 3 A§H$m| dmbo bKw àíZm| Ho$ CÎma 50 go 80 eãXm| H$s gr‘m ‘|

XoZo h¢&
(c) à0 g§0 42 go 45 VH$, 5 A§H$m| dmbo XrK© àíZm| Ho$ CÎma 80 go 120 eãXm| H$s gr‘m

‘| XoZo h¢&

BZ‘| go Hw$N> àíZm| ‘| Am§V[aH$ {dH$ën ^r {XE JE h¢& AmnH$mo CZ‘| go {H$gr EH$ H$m hr CÎma
XoZm h¡&

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& Xmonha 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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EH$ gm§p»¶H$s{dX² dJ© A§Vamb Ho$ ‘Ü¶-{~§XþAm| na {dMma H$aHo$ g§J{R>V S>oQ>m H$m à{V{Z{YËd H$aVm
h¡& Bggo Cgo _____ ~ZmZo ‘| ‘XX {‘boJr&

(A) Amd¥{Îm ~hþ^wO (B) X§S> AmaoI

(C) {hñQ>moJ«m‘ (D) nmB© MmQ>©

3. When you are playing a game of chess, the persons around you may not
guess your next move. This behaviour is an example of

(A) covert behaviour (B) observable behaviour

(C) overt behaviour (D) extrovert behaviour 1

O~ Amn eVa§O H$m Iob Iob aho hm|, Vmo AmnHo$ Amg-nmg Ho$ bmoJm| H$mo AmnH$s AJbr Mmb H$m
A§XmOm Zht bJ nmVm& ¶h ì¶dhma CXmhaU h¡

(A) Jwá ì¶dhma H$m (B) AdbmoH$ZmË‘H$ ì¶dhma H$m

(C) Iwbo ì¶dhma H$m (D) ~{h‘w©Ir ì¶dhma H$m

4. Whenever Kiran travelled by train, she noticed that the distant hills slowly
moved along with her, whereas the trees next to the train moved rapidly
against the direction of the train. This is an example of

(A) texture gradient (B) light and shade

(C) motion parallax (D) relative size 1

{H$aU O~ ^r aobJm‹S>r go ¶mÌm H$aVr Wr Vmo dh XoIVr Wr {H$ Xÿa H$s nhm{‹S>¶m± CgHo$ gmW Yrao-
Yrao MbVr h¢, O~{H$ aobJm‹S>r Ho$ ~Jb ‘| pñWV no‹S> aobJm‹S>r H$s {Xem Ho$ {dnarV VoOr go MbVo
h¢& ¶h EH$ CXmhaU h¡

(A) ~wZmdQ>r àdUVm H$m (B) àH$me Am¡a N>m¶m H$m

(C) ‘moeZ n¡amb¡³g H$m (D) gmnoj AmH$ma H$m

5. Police vehicles and ambulances have flickering and flashing lights along
with a loud siren for people to notice them. Identify the two external
factors here that help people to attend them. 1

(A) Novelty and size (B) Movement and intensity

(C) Change and repetition (D) Clarity and colours
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nw{bg dmhZm| Am¡a Eå~wb|g ‘| {Q>‘{Q>‘mVr Am¡a M‘H$Vr bmBQ>| hmoVr h¢ Am¡a gmW hr VoO gm¶aZ ^r
hmoVm h¡ Vm{H$ bmoJ CZ na Ü¶mZ X|& ¶hm± CZ Xmo ~mhar H$maH$m| H$s nhMmZ H$a|, Omo bmoJm| H$mo CZ
na Ü¶mZ XoZo ‘| ‘XX H$aVo h¢&

(A) ZdrZVm Am¡a AmH$ma (B) J{VerbVm Am¡a Vrd«Vm

(C) n[adV©Z Am¡a Amd¥{Îm (D) ñnï>Vm Am¡a a§J

6. Ravi organizes the information that he has to remember to make retrieval
very easy. Ravi is using

(A) locus (B) mnemonics

(C) retrieval (D) preview 1

a{d ¶mX aIZodmbr OmZH$mar H$mo ì¶dpñWV H$aVm h¡ Vm{H$ Cgo nwZ… àmá H$aZm ~hþV AmgmZ hmo OmE&
a{d Cn¶moJ H$a ahm h¡

(A) ñWmZ{d{Y H$m (B) {Z‘mo{Z³g H$m

(C) nwZéÕma H$m (D) nydm©dbmoH$Z (àrì¶y) H$m

7. When you hear footsteps at night, the heart races and muscles get tense
and thus you feel scared. This example is an explanation of

(A) the James-Lange theory (B) the Cannon-Bard theory

(C) the Schachter-Singer theory (D) the James-Bard theory 1

O~ Amn amV ‘| H$X‘m| H$s AmhQ> gwZVo h¢, Vmo {Xb H$s Y‹S>H$Z| VoO hmo OmVr h¢ Am¡a ‘m§gno{e¶m±
VZmdJ«ñV hmo OmVr h¢ Am¡a Bg Vah AmnH$mo S>a bJVm h¡& ¶h CXmhaU {H$gH$s ì¶m»¶m H$aVm h¡?

(A) Ooåg-bm§Oo {gÕm§V (B) H¡$ZZ-~mS>© {gÕm§V

(C) e¡³Q>a-qgJa {gÕm§V (D) Ooåg-~mS>© {gÕm§V

8. When a number of motionless pictures are presented in a quick succession
one after the other, they appear to be moving. This illusion is called

(A) the Poggendorff illusion

(B) the Zollner illusion

(C) the Ponzo illusion

(D) the apparent movement illusion 1
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O~ H$B© pñWa {MÌ EH$ Ho$ ~mX EH$ VoOr go àñVwV {H$E OmVo h¢, Vmo do MbVo hþE àVrV hmoVo h¢&
Bg ^«‘ H$mo H$hm OmVm h¡

(A) nmoJoZS>m°’©$ ^«‘

(B) OmoëZa ^«‘

(C) nm|Omo ^«‘

(D) {XImB© XoZo dmbm MbZ ^«‘

9. Roger has not understood the meaning of the lyrics of a song but mere
repetition of the song has helped him to remember it well. This is due to

(A) maintenance rehearsal (B) elaborative rehearsal

(C) chunking (D) keyword method 1

amoOa H$mo JmZo Ho$ ~mobm| H$m AW© g‘P ‘| Zht Am¶m, bo{H$Z JmZo H$mo ~ma-~ma XmohamZo go Cgo JmZo
H$mo AÀN>r Vah ¶mX aIZo ‘| ‘XX {‘br& Eogm _____ Ho$ H$maU hmoVm h¡&

(A) AZwajU nydm©ä¶mg (B) {dñVmanaH$ nydm©ä¶mg

(C) I§S>r¶Z {d{Y (D) ‘w»¶eãX {d{Y

10. Which of the following is true for learning? 1

(A) Learning refers to a permanent change in behaviour due to schooling
only

(B) Learning refers to a relatively permanent change in behaviour due to
training or experience

(C) Learning refers to a temporary change in behaviour due to training or
experience

(D) Learning refers to no change in behaviour due to training or
experience

{ZåZ{b{IV ‘| go H$m¡Z-gm grIZo Ho$ {df¶ ‘| gË¶ h¡?

(A) grIZm Ho$db ñHy$br {ejm Ho$ H$maU ì¶dhma ‘| AmZo dmbo ñWm¶r n[adV©Z H$mo g§X{^©V
H$aVm h¡

(B) grIZm à{ejU ¶m AZw^d Ho$ H$maU ì¶dhma ‘| hmoZo dmbo ñWm¶r n[adV©Z H$mo g§X{^©V
H$aVm h¡

(C) grIZm à{ejU ¶m AZw^d Ho$ H$maU ì¶dhma ‘| hmoZo dmbo AñWm¶r n[adV©Z H$mo g§X{^©V
H$aVm h¡

(D) grIZo go VmËn¶© à{ejU ¶m AZw^d Ho$ H$maU ì¶dhma ‘| H$moB© n[adV©Z Z hmoZm h¡
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11. The processes involved in transforming sensation to perception is called

(A) sensation (B) perception

(C) transduction (D) attention 1

g§doXZm H$mo YmaUm ‘| ~XbZo ‘| em{‘b à{H«$¶mAm| H$mo H$hm OmVm h¡

(A) g§doXZm (B) AZw^y{V/àË¶jU

(C) à{V^mg (D) AdYmZ

12. If someone needs a pillow, but there is no pillow around except a sheet.
He may not see how the sheet can be folded to be used as a pillow. This
is due to

(A) mental set (B) daily practice

(C) functional fixedness (D) mental modals 1

AJa {H$gr H$mo V{H$¶m Mm{hE bo{H$Z CgHo$ nmg MmXa Ho$ Abmdm H$moB© V{H$¶m Zht h¡, Vmo hmo gH$Vm
h¡ {H$ Cgo ¶h g‘P ‘| Z AmE {H$ MmXa H$mo ‘mo‹S>H$a V{H$E H$s Vah H¡$go BñVo‘mb {H$¶m Om gH$Vm
h¡& Eogm _____ Ho$ H$maU hmoVm h¡&

(A) ‘mZ{gH$ goQ> (B) X¡{ZH$ Aä¶mg

(C) H$m¶m©Ë‘H$ pñWaVm (D) ‘mZ{gH$ Vm¡a-VarH$m|

13. What is stranger anxiety faced by the infants? 1

(A) Fear of being separated from parents

(B) Fear of being kidnapped by a stranger

(C) Fear of being left in an unknown place

(D) Fear of persona they do not recognize

{eewAm| H$mo hmoZo dmbr AOZ~r qMVm ³¶m hmoVr h¡?

(A) ‘mVm-{nVm go AbJ {H$E OmZo H$m S>a

(B) AOZ~r Ûmam AnhaU {H$E OmZo H$m S>a

(C) AZOmZ OJh na N>mo‹S> {XE OmZo H$m S>a

(D) Eogo ì¶{º$Ëd H$m S>a {Ogo do nhMmZ Zht nmVo



328/MAY/214A 9 [ P.T.O.

14. What is the aim of early stimulation during infancy? 1

(A) To accelerate development

(B) To force the child to achieve goals

(C) To optimize infant’s development in different domains

(D) To encourage early maturation

e¡edmdñWm Ho$ Xm¡amZ àma§{^H$ CÎmoOZm H$m ³¶m CÔoí¶ h¡?

(A) {dH$mg H$mo J{V àXmZ H$aZm

(B) ~ƒo H$mo bú¶ hm{gb H$aZo Ho$ {bE ‘O~ya H$aZm

(C) {d{^Þ joÌm| ‘| {eew Ho$ {dH$mg H$mo AZwHy${bV H$aZm

(D) erK« n[an¹$Vm H$mo àmoËgm{hV H$aZm

15. Anorexia nervosa is a disorder where the individual

(A) starves oneself to remain thin

(B) eats lavishly and then self induce vomiting

(C) indulges in unhealthy eating and excessive dieting

(D) eats things like chalk, etc., that are not food 1

EZmoaop³g¶m Zdm}gm EH$ {dH$ma h¡, {Og‘| ì¶{º$

(A) nVbm ahZo Ho$ {bE IwX H$mo ^yIm aIVm h¡

(B) Iy~ ImVm h¡ Am¡a {’$a IwX hr CëQ>r H$aVm h¡

(C) AñdmñÏ¶H$a ^moOZ Am¡a AË¶{YH$ S>mBqQ>J ‘| {bá hmoVm h¡

(D) MmH$ Am{X O¡gr MrO| ImVm h¡ Omo ^moOZ Zht h¢

16. Identify the statement that is not true to socioemotional development in
children. 1

(A) Ability to climb mountains

(B) Ability to interact with others

(C) Ability to judge the emotional reactions of others

(D) Ability to understand and manage one’s own emotions
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~ƒm| Ho$ gm‘m{OH$-^mdZmË‘H$ {dH$mg Ho$ g§~§Y ‘| Cg H$WZ H$s nhMmZ H$a|, Omo gË¶ Zht h¡&

(A) nhm‹S>m| na M‹T>Zo H$s j‘Vm

(B) Xÿgam| Ho$ gmW ~mVMrV H$aZo H$s j‘Vm

(C) Xÿgam| H$s ^mdZmË‘H$ à{V{H«$¶mAm| H$m AmH$bZ H$aZo H$s j‘Vm

(D) AnZr ^mdZmAm| H$mo g‘PZo Am¡a à~§{YV H$aZo H$s j‘Vm

17. At which stage of cognitive development, the children are able to do
abstract thinking and are able to think logically? 1

(A) Formal operational (B) Preoperational

(C) Sensory motor (D) Concrete operational

g§kmZmË‘H$ {dH$mg H$s {H$g AdñWm ‘| ~ƒo A‘yV© qMVZ H$aZo ‘| gj‘ hmoVo h¢ Am¡a Vm{H©$H$ ê$n
go gmoMZo ‘| gj‘ hmoVo h¢?

(A) Am¡nMm[aH$ g§{H«$¶mË‘H$ (B) nyd©-g§{H«$¶mË‘H$

(C) g§doXr Jm‘H$ (D) ‘yV© g§{H«$¶mË‘H$

18. Guri, an infant, grasps anything that touches his palm. Identify this reflex. 1

(A) Rooting (B) Moro

(C) Sucking (D) Grasping

Jwar, EH$ {eew, O~ ^r H$moB© CgH$s hWobr H$mo Ny>Vm h¡, Vmo dh Cgo nH$‹S> boVm h¡& Bg à{VdV©
([aâbo³g) H$mo nhMmZ|&

(A) ê$qQ>J (B) ‘moamo

(C) MygZm (D) J«¡g²qnJ

19. A child adjusts his schema to fit in new information and experiences.
Identify this process of actively constructing his cognitive world. 1

(A) Accommodation (B) Organization

(C) Equilibration (D) Assimilation

EH$ ~ƒm ZB© OmZH$mar Am¡a AZw^dm| ‘| {’$Q> H$aZo Ho$ {bE AnZr ¶moOZmAm| H$mo g‘m¶mo{OV H$aVm h¡&
AnZr g§kmZmË‘H$ Xþ{Z¶m H$mo g{H«$¶ ê$n go g§aMZmË‘H$ ~ZmZo H$s Bg à{H«$¶m H$mo nhMmZ|&

(A) g‘m¶moOZ (B) g§JR>Z

(C) g§VwbZ (D) AmË‘gmV H$aZm



328/MAY/214A 11 [ P.T.O.

20. A small child feels that the moon follows her everywhere because it cares
for her like a family member. This is due to

(A) centration (B) animism

(C) conservation (D) egocentrism 1

EH$ N>moQ>o ~ƒo H$mo Eogm bJVm h¡ {H$ Mm±X ha OJh CgH$m nrN>m H$aVm h¡ ³¶m|{H$ dh n[adma Ho$ gXñ¶m|
H$s Vah CgH$m »¶mb aIVm h¡& Eogm _____ Ho$ H$maU hmoVm h¡&

(A) H|$ÐrH$aU (B) OrddmX

(C) g§ajU (D) Ah§H|${ÐVVm

21. The following data shows marks obtained by 10 students in a Mathematics
test :

30, 50, 60, 25, 50, 70, 80, 50, 75, 50

(a) Calculate the mode for the data given above.

(b) Calculate the mean for the data given above. 2

{ZåZ{b{IV Am±H$‹S>o J{UV H$s EH$ narjm ‘| 10 N>mÌm| Ûmam àmá A§H$m| H$mo Xem©Vo h¢ :

30, 50, 60, 25, 50, 70, 80, 50, 75, 50

(H$) D$na {XE JE S>oQ>m Ho$ {bE ~hþbH$ H$s JUZm H$a|&

(I) D$na {XE JE S>oQ>m Ho$ {bE ‘mÜ¶ H$s JUZm H$a|&

22. Identify the leadership theory in the following statements : 2

(a) Great leaders are born and have a unique background which makes
them different from the followers.

(b) Individual associated with certain personality traits like intelligence,
self-confidence, creativity, integrity, etc., has the tendency to lead
others.

{ZåZ{b{IV H$WZm| Ho$ ZoV¥Ëd {gÕm§V H$s nhMmZ H$a| :

(H$) ‘hmZ ZoVm OÝ‘OmV hmoVo h¢ Am¡a CZH$s n¥ð>^y{‘ {d{eï> hmoVr h¡ Omo CÝh| AZw¶m{¶¶m| go AbJ
~ZmVr h¡&

(I) ~w{Õ‘Îmm, AmË‘{dídmg, aMZmË‘H$Vm, B©‘mZXmar Am{X O¡go ì¶{º$Ëd bjUm| go Ow‹S>o ì¶{º$ ‘| Xÿgam|
H$m ZoV¥Ëd H$aZo H$s àd¥{Îm hmoVr h¡&
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23. Identify the trait theorists with the theories given below : 2

(a) This trait theorist distinguished between the observable behaviour
and underlying internal tendencies that produce that behaviour.

(b) This theorist assumed that there are central traits that each individual
possesses.

ZrMo {XE JE {gÕm§Vm| Ho$ AmYma na JwU-bjU {gÕm§VH$mam| H$s nhMmZ H$a| :

(H$) Bg JwU-bjU {gÕm§VH$ma Zo AdbmoH$Zr¶ ì¶dhma Am¡a Cg ì¶dhma H$mo CËnÞ H$aZo dmbr
A§V{Z©{hV Am§V[aH$ àd¥{Îm¶m| Ho$ ~rM A§Va {H$¶m&

(I) Bg {gÕm§VH$ma Zo ¶h ‘mZm {H$ àË¶oH$ ì¶{º$ Ho$ nmg Hw$N> H|$Ðr¶ JwU hmoVo h¢&

24. Fill in the blanks with the correct words : 1×4=4

(a) Data collected by the researcher in an unorganized form is called
_____ data.

(b) Data that is represented singularly and then arranged in ascending or
descending order is called _____ series.

(c) When the frequency of observations is taken to organize the data,
_____ series can be prepared.

(d) _____ bars are used in a frequency table to represent every single
entry.

[aº$ ñWmZm| H$s ghr eãX go ny{V© H$a| :

(H$) emoYH$Vm©Am| Ûmam Ag§J{R>V ê$n go EH${ÌV Am±H$‹S>m| H$mo _____ Am±H$‹S>o H$hm OmVm h¡&

(I) S>oQ>m H$mo EH$b ê$n ‘| àX{e©V H$aHo$ Amamohr ¶m Adamohr H«$‘ ‘| ì¶dpñWV H$aZo H$mo _____

ûm§¥Ibm H$hm OmVm h¡&$

(J) O~ Am±H$‹S>mo| H$mo ì¶dpñWV H$aZo Ho$ {bE àojUm| H$s Amd¥{Îm br OmVr h¡, Vmo _____ ûm§¥Ibm
V¡¶ma H$s Om gH$Vr h¡&

(K) àË¶oH$ à{d{ï> H$mo Xem©Zo Ho$ {bE _____ ~ma H$m Cn¶moJ Amd¥{Îm Vm{bH$m ‘| {H$¶m OmVm h¡&
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25. Identify the principle of perceptual organization from the statements given
below : 1×4=4

(a) We tend to fill in the gaps and perceive objects as whole rather than
their separate parts.

(b) We tend to perceive objects as belonging together if they appear to
form continuous pattern.

(c) Objects that are close together in space or time are perceived as
belonging together.

(d) Objects that are similar to each other are perceived as a group.

ZrMo {XE JE H$WZm| go AdYmaUmË‘H$ g§JR>Z Ho$ {gÕm§V H$s nhMmZ H$a| :

(H$) h‘ A§Vamb H$mo ^aZo H$m à¶mg H$aVo h¢ VWm dñVwAm| H$mo CZHo$ AbJ-AbJ ^mJm| ‘| XoIZo
Ho$ ~Om¶ g§nyU© ê$n ‘| XoIVo h¢&

(I) h‘ dñVwAm| H$mo Amng ‘| g§~§{YV ‘mZVo h¢ ¶{X do {Za§Va n¡Q>Z© ~ZmVr hþB© àVrV hmoVr h¢&

(J) ñWmZ ¶m g‘¶ ‘| EH$-Xÿgao Ho$ {ZH$Q> pñWV dñVwAm| H$mo EH$-Xÿgao go g§~§{YV ‘mZm OmVm h¡&

(K) EH$-Xÿgao Ho$ g‘mZ dñVwAm| H$mo EH$ g‘yh Ho$ ê$n ‘| XoIm OmVm h¡&

26. Match the following : 1×4=4

Kind of self Characteristics

(a) Self-esteem (i) Positive or negative thoughts about
oneself

(b) Self-efficacy (ii) The self that one strives to be though
may not achieve

(c) Self-concept (iii) It is the sum of all positive evaluations

(d) Ideal self (iv) A person high on this will take up
challenges and spend time and effort
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{ZåZ{b{IV H$m {‘bmZ H$a| :

AmË‘ Ho$ àH$ma {deofVmE±

(a) AmË‘-gå‘mZ (i) ñd¶§ Ho$ ~mao ‘| gH$mamË‘H$ ¶m ZH$mamË‘H$ {dMma

(b) AmË‘-à^mdH$m[aVm (ii) ì¶{º$ {Og ñd H$mo àmá H$aZo H$m à¶mg H$aVm h¡, dh ^bo
hr àmá Z hmo

(c) AmË‘-AdYmaUm (iii) ¶h g^r gH$mamË‘H$ ‘yë¶m§H$Zm| H$m ¶moJ h¡

(d) AmXe© ñd (iv) Bg Cƒ ñVa na ì¶{º$ MwZm¡{V¶m| H$mo ñdrH$maoJm, g‘¶

XoJm Am¡a à¶mg H$aoJm

27. Identify the type of intelligence each individual possesses, in the following
cases, using Gardner’s theory of intelligence : 1×4=4

(a) Richa, a poet, can use language fluently and is word smart.

(b) Mona, a Mathematics teacher, can think logically and can engage in
abstract reasoning.

(c) Rohit, a gymnast, excels in using his whole body to create postures.

(d) Rishi, a table player, can produce and create musical patterns.

{ZåZ{b{IV ‘m‘bm| ‘| àË¶oH$ ì¶{º$ ‘| {H$g àH$ma H$s ~w{Õ h¡, JmS>©Za Ho$ ~w{Õ {gÕm§V Ho$ AmYma
na nhMmZ H$a| :

(H$) [aMm, EH$ H$d{¶Ìr h¡ Am¡a ^mfm H$m Ymam àdmh à¶moJ H$a gH$Vr h¡ VWm eãXm| na CgH$s AÀN>r
nH$‹S> h¡&

(I) ‘moZm, EH$ J{UV {e{jH$m h¡ Omo Vm{H©$H$ ê$n go gmoM gH$Vr h¡ Am¡a A‘yV© VH©$ ‘| g§b¾ hmo
gH$Vr h¡&

(J) amo{hV, EH$ {O‘ZmñQ> h¡ Omo AmgZ ~ZmZo Ho$ {bE AnZo nyao eara H$m Cn¶moJ H$aZo ‘| ‘m{ha h¡&

(K) F${f, EH$ Q>o~b ßbo¶a h¡ Omo g§JrV n¡Q>Z© H$m {Z‘m©U Am¡a aMZm H$a gH$Vm h¡&
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28. Fill in the blanks with the correct answer : 1×4=4

(a) Decrease in performance of an individual when performing an activity
as part of a group rather than when alone is due to _____.

(b) When an individual’s performance is improved by the presence of
others is called _____.

(c) When group members try to maintain the unity of the group
rather than taking correct decisions and rational judgements, it is
called _____.

(d) Tendency of the group to take extreme actions rather than initial
actions or decisions of the individual members is called _____.

ghr CÎma go [aº$ ñWmZ H$s ny{V© H$a| :

(H$) _____ Ho$ H$maU AHo$bo {ZînmXZ H$aZo H$s VwbZm ‘|, EH$ g‘yh Ho$ {hñgo Ho$ ê$n ‘| H$moB© J{V{d{Y
H$aZo na ì¶{º$ Ho$ {ZînmXZ ‘| H$‘r AmVr h¡&

(I) O~ {H$gr ì¶{º$ H$m {ZînmXZ Xÿgao H$s CnpñW{V go ~ohVa hmoVm h¡, _____ H$hbmVm h¡&

(J) O~ g‘yh Ho$ gXñ¶ ghr {ZU©¶ Am¡a Vm{H©$H$ {ZU©¶ H$s VwbZm ‘| g‘yh H$s EH$Vm ~ZmE aIZo
H$m à¶mg H$aVo h¢, _____ h¡&

(K) g‘yhm| H$s ì¶{º$JV gXñ¶m| Ho$ àma§{^H$ H$m¶m] ¶m {ZU©¶m| Ho$ ~Om¶ AË¶{YH$ H$m¶©dmhr ¶m {ZU©¶
boZo H$s àd¥{Îm _____ H$hbmVr h¡&

29. In the following cases, identify the factors that are leading to attitude
change from the choices given below : 1×4=4

( Message characteristics; source credibility; target characteristics;
source attractiveness )

(a) A doctor telling about the importance of regular exercise and walk,
will help in changing attitude of the residents towards fitness.

(b) People who are flexible and open to new thoughts change attitude
more easily.

(c) A young adolescent girl uses a particular brand of cream, as the
beautiful model whom she idolizes also uses the same product.

(d) A cooking oil company sells the product with the catch line ‘Buy this
cooking oil if you care for the health of your family’.
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{ZåZ{b{IV ‘m‘bm| ‘| ZrMo {XE JE {dH$ënm| ‘| go CZ H$maH$m| H$s nhMmZ H$a| Omo A{^d¥{Îm ‘| n[adV©Z
H$m H$maU ~Zo h¢ :

( g§Xoe {deofVmE±; òmoV {dídgZr¶Vm; bú¶ {deofVmE±; òmoV AmH$f©U )

(H$) {Z¶{‘V ì¶m¶m‘ Am¡a g¡a Ho$ ‘hÎd Ho$ ~mao ‘| ~VmZo dmbo S>m°³Q>a go {Zdm{g¶m| H$s ñdñWVm Ho$
à{V A{^d¥{Îm ~XbZo ‘| ‘XX {‘boJr&

(I) Omo bmoJ bMrbo hmoVo h¢ Am¡a ZE {dMmam| Ho$ à{V Iwbo hmoVo h¢, do A{YH$ AmgmZr go AnZr
A{^d¥{Îm ‘| n[adV©Z bo AmVo h¢&

(J) EH$ ¶wdm {H$emoar EH$ {deof ~«m§S> H$s H«$s‘ H$m Cn¶moJ H$aVr h¡, ³¶m|{H$ {Og Iy~gyaV ‘m°S>b
H$mo dh AnZm AmXe© ‘mZVr h¡, dh ^r Cgr CËnmX H$m Cn¶moJ H$aVr h¡&

(K) EH$ ImZm nH$mZo dmbo Vob H$s H§$nZr Bg AmH$f©H$ bmBZ Ho$ gmW CËnmX ~oMVr h¡, "¶{X Amn
AnZo n[adma Ho$ ñdmñÏ¶ H$s nadmh H$aVo h¢, Vmo ¶h ImZm nH$mZo H$m Vob IarX|'&

SECTION—B

IÊS>—I

30. (a) How can one overcome hindrances in problem solving? 2

g‘ñ¶m g‘mYmZ ‘| AmZodmbr ~mYmAm| na H$m~y H¡$go nm¶m Om gH$Vm h¡?

Or / AWdm

(b) How does the Yerkes-Dodson law explain the relationship between
arousal and performance?

¶H}$g-S>moS>gZ {Z¶‘ CÎmoOZm Am¡a àXe©Z Ho$ ~rM g§~§Y H$s ì¶m»¶m H¡$go H$aVm h¡?

31. Why is it important for young adults to have a healthy and loving
relationships with their partners? 2

¶wdm d¶ñH$mo| Ho$ {bE AnZo OrdZ-gmWr Ho$ gmW ñdñW Am¡a ào‘nyU© g§~§Y aIZm ³¶m| ‘hÎdnyU© h¡?
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32. (a) What is the difference between self-efficacy and self-esteem? 2

AmË‘-à^mdH$m[aVm Am¡a AmË‘-gå‘mZ Ho$ ~rM ³¶m A§Va h¡?

Or / AWdm

(b) What is the difference between introverts and extroverts as given
by Jung?

¶w§J Ûmam A§V‘w©Ir Am¡a ~{h‘w©Ir Ho$ ~rM ³¶m A§Va ~Vm¶m J¶m?

33. Raunak, a young adult, is going through a sense of emptiness and
isolation. How has Erikson explained this in his theory of psychosocial
development? 2

am¡ZH$, EH$ ¶wdm d¶ñH$, ImbrnZ Am¡a AbJmd go JwOa ahm h¡& E[a³gZ Zo AnZo ‘Zmogm‘m{OH$ {dH$mg
Ho$ {gÕm§V ‘| Bgo H¡$go g‘Pm¶m h¡?

34. (a) Manish, a young soldier, has just returned from the border, where in
a terrorist encounter he would have lost his life if he had not
retaliated. Now he is having acute stress thinking about the incident.
Identify the disorder and the symptoms associated with it. 2

‘Zrf, EH$ ¶wdm g¡{ZH$, hmb hr ‘| gr‘m go bm¡Q>m h¡, Ohm± EH$ AmV§H$dmXr ‘wR>^o‹S> ‘| AJa
CgZo Odm~r H$m¶©dmhr Zht H$s hmoVr Vmo CgH$s OmZ ^r Om gH$Vr Wr& A~ dh Bg KQ>Zm H$mo
gmoMH$a ~hþV VZmd ‘| h¡& Bg {dH$ma Am¡a Cggo Ow‹S>o bjUm| H$mo nhMmZ|&

Or / AWdm

(b) Man is a social being and the environment that he lives in is
important for his well-being. But there are certain social factors that
lead to poor mental health. Discuss these factors.

‘Zwî¶ EH$ gm‘m{OH$ àmUr h¡ Am¡a {Og dmVmdaU ‘| ahVm h¡ dh CgHo$ ñdmñÏ¶ Ho$ {bE ‘hÎdnyU©
h¡& bo{H$Z Hw$N> gm‘m{OH$ H$maH$ ^r h¢ Omo Iam~ ‘mZ{gH$ ñdmñÏ¶ Ho$ {bE CÎmaXm¶r h¢& BZ
H$maH$m| na MMm© H$a|&

35. How can mania be differentiated from major depressive disorder? 2

CÝ‘mX H$mo à‘wI AdgmXJ«ñVVm {dH$ma go {H$g àH$ma AbJ {H$¶m Om gH$Vm h¡?
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36. If someone lives next to a railroad and always eats exactly when the train
is roaring by, he will find that if the train goes by and he doesn’t eat, he
will get hungry. Which school of Psychology supports this? Explain. 3

AJa H$moB© ì¶{º$ aob‘mJ© Ho$ nmg ahVm h¡ Am¡a h‘oem R>rH$ Cgr g‘¶ ImZm ImVm h¡ O~ Q´>oZ Ho$ JwOaZo
H$s AmdmO Am ahr hmoVr h¡, Vmo dh nmEJm {H$ AJa Q´>oZ JwOa OmE Am¡a dh ImZm Z ImE, Vmo Cgo
^yI bJoJr& ‘Zmo{dkmZ H$m H$m¡Z-gm ñHy$b BgH$m g‘W©Z H$aVm h¡? ñnï> H$s{OE&

37. (a) Describe the three major types of research designs used by
psychologists for research investigation. 3

emoY narjU Ho$ {bE ‘Zmod¡km{ZH$m| Ûmam Cn¶moJ {H$E OmZo dmbo VrZ à‘wI àH$ma Ho$ emoY {S>OmBZm|
H$m {ddaU X|&

Or / AWdm

(b) How are quasi and field experiment conducted by the researcher?

emoYH$Vm© Ûmam AY© Am¡a joÌ à¶moJ H¡$go g§Mm{bV {H$E OmVo h¢?

38. (a) How do teachers view giftedness and what do they do to help gifted
children achieve full potential? 3

{ejH$ à{V^m H$mo {H$g àH$ma XoIVo h¢ VWm à{V^membr ~ƒm| H$mo CZH$s nyU© j‘Vm àmá H$aZo
‘| ghm¶Vm H$aZo Ho$ {bE do ³¶m H$aVo h¢?

Or / AWdm

(b) How can intelligence quotient be calculated?

~w{Õ bpãY (IQ) H$s JUZm H¡$go H$s Om gH$Vr h¡?

39. (a) Why are substance use and drugs harmful for the young adolescents? 3

¶wdmAm| Ho$ {bE ‘mXH$ Ðì¶m| Am¡a S´>½g H$m godZ hm{ZH$maH$ ³¶m| h¡?

Or / AWdm

(b) How are cognitive attainments reflected during concrete operational
stage?

‘yV© g§{H«$¶mË‘H$ MaU Ho$ Xm¡amZ g§kmZmË‘H$ CnbpãY¶m± {H$g àH$ma à{Vq~{~V hmoVr h¢?



328/MAY/214A 19 [ P.T.O.

40. (a) Rajesh keeps checking the door to see if it is latched well or not. This
has led to sleepless nights. Identify Rajesh’s disorder and the
symptoms of the disorder. 3

amOoe ~ma-~ma XadmOm MoH$ H$aVm ahVm h¡ {H$ XadmOm R>rH$ go ~§X h¡ ¶m Zht& Bg dOh go
CgH$s amVm| H$s ZtX C‹S> JB© h¡& amOoe Ho$ ‘Zmo{dH$ma Am¡a {dH$ma Ho$ bjUm| H$mo nhMm{ZE&

Or / AWdm

(b) You have been told to spread awareness about mental health and its
causes. What are the three ways in which you can promote mental
health activities in your school?

AmnH$mo ‘mZ{gH$ ñdmñÏ¶ Am¡a BgHo$ H$maUm| Ho$ ~mao ‘| OmJê$H$Vm ’¡$bmZo Ho$ {bE H$hm J¶m h¡&
Eogo H$m¡Z-go VrZ VarHo$ h¢, {OZgo Amn AnZo ñHy$b ‘| ‘mZ{gH$ J{V{d{Y¶m| H$mo ~‹T>mdm Xo
gH$Vo h¢?

41. What are the characteristics of a person with poor mental health? 3

Iam~ ‘mZ{gH$ ñdmñÏ¶ dmbo ì¶{º$ H$s ³¶m {deofVmE± h¢?

42. (a) What are the characteristics of creative thinkers? Explain any five. 5

aMZmË‘H$ qMVH$mo| H$s ³¶m {deofVmE± hmoVr h¢? {H$Ýht nm±M H$s ì¶m»¶m H$a|&

Or / AWdm

(b) Discuss any five barriers to sound decision-making. 1×5=5

ghr {ZU©¶ boZo ‘| AmZo dmbr {H$Ýht nm±M ~mYmAm| H$s MMm© H$a|&

43. Daily homework done by students helps to retain what has been taught
that day. If we delay it, then it is forgotten. Explain the nature of forgetting
and the role of interference with the help of examples. 5

{dÚm{W©¶m| Ûmam à{V{XZ {H$¶m OmZo dmbm J¥hH$m¶© Cg {XZ n‹T>mE JE nmR> H$mo ¶mX aIZo ‘| ghm¶H$
hmoVm h¡& ¶{X h‘ Bg‘| Xoar H$aVo h¢, Vmo ¶h ^yb OmVo h¢& CXmhaUm| H$s ghm¶Vm go ^ybZo H$s àd¥{Îm
Am¡a ì¶dYmZ H$s ^y{‘H$m H$mo ñnï> H$a|&



44. Many of the conflicts arise due to stereotypes which then lead to
prejudices. What strategies would you suggest to reduce stereotypes and
prejudices? 5

ê${‹T>dm{XVm Ho$ H$maU H$B© g§Kf© CËnÞ hmoVo h¢ Omo ~mX ‘| nydm©J«hm| H$mo OÝ‘ XoVo h¢& ê${‹T>dm{XVm Am¡a
nydm©J«hm| H$mo H$‘ H$aZo Ho$ {bE Amn ³¶m aUZr{V¶m± gwPmE±Jo?

45. (a) How do effective strategies help in maintaining health and hygiene?
Suggest any five strategies. 5

ñdmñÏ¶ Am¡a ñdÀN>Vm ~ZmE aIZo ‘| à^mdr aUZr{V¶m± {H$g àH$ma ghm¶H$ hmoVr h¢? H$moB© nm±M
aUZr{V¶m± gwPmE±&

Or / AWdm

(b) How are psychological factors responsible for poor mental health?
Discuss any five factors.

Iam~ ‘mZ{gH$ ñdmñÏ¶ Ho$ {bE ‘Zmod¡km{ZH$ H$maH$ {H$g àH$ma CÎmaXm¶r h¢? {H$Ýht nm±M H$maH$m|
na MMm© H$a|&


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gm‘mÝ¶ AZwXoe …

1. narjmWu àíZ-nÌ Ho$ nhbo n¥ð> na AnZm AZwH«$‘m§H$ Adí¶ {bI|&

2. H¥$n¶m àíZ-nÌ H$mo Om±M b| {H$ àíZ-nÌ Ho$ Hw$b n¥ð>m| VWm àíZm| H$s CVZr hr g§»¶m h¡ {OVZr àW‘ n¥ð> Ho$ g~go
D$na N>nr h¡& Bg ~mV H$s Om±M ^r H$a b| {H$ àíZ H«${‘H$ ê$n ‘| h¢&

3. CÎma-nwpñVH$m ‘| nhMmZ-{M• ~ZmZo AWdm {Z{X©ï> ñWmZm| Ho$ A{V[aº$ H$ht ̂ r AZwH«$‘m§H$ {bIZo na narjmWu H$mo
A¶mo½¶ R>ham¶m OmEJm&

4. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ v {bI|&

5. (H$) n«íZ-nÌ Ho$db A§J«oOr/{hÝXr ‘mÜ¶‘ ‘| h¡& {’$a ^r, ¶{X Amn Mmh| Vmo ZrMo Xr JB© {H$gr EH$ ^mfm ‘| CÎma
Xo gH$Vo h¢ …

A§J«oOr, {hÝXr, CXÿ©, n§Om~r, ~§Jbm, V{‘b, ‘b¶mb‘, H$Þ‹S>, VobwJy, ‘amR>r, C{‹S>¶m, JwOamVr, H$m|H$Ur,
‘{Unwar, Ag{‘¶m, Zonmbr, H$í‘rar, g§ñH¥$V Am¡a {gÝYr&

H¥$n¶m CÎma-nwpñVH$m ‘| {XE JE ~m°³g ‘| {bI| {H$ Amn {H$g ^mfm ‘| CÎma {bI aho h¢&

(I) ¶{X Amn {hÝXr Ed§ A§J«oOr Ho$ A{V[aº$ {H$gr AÝ¶ ̂ mfm ‘| CÎma {bIVo h¢, Vmo àíZm| H$mo g‘PZo ‘| hmoZo dmbr
Ìw{Q>¶m|/Jb{V¶m| H$s {Oå‘oXmar Ho$db AmnH$s hmoJr&

6. àíZ-nÌ ‘| {H$gr ^r àH$ma Ho$ g§Xoh AWdm Xþ{dYm H$s pñW{V ‘| A§J«oOr AZwdmX hr ‘mÝ¶ hmoJm&
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Note  : (i) This question paper consists of 45 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Section—A consists of :

(a) Question Nos. 1 to 20 Multiple Choice-type Questions (MCQs)

carrying 1 mark each. Select and write the most appropriate option

out of the four options given in each of these questions.

(b) Question Nos. 21 to 29 Objective-type questions. Question Nos. 21

to 23 carry 2 marks each (with 2 subparts of 1 mark) and Question

Nos. 24 to 29 carry 4 marks each (with 4 subparts of 1 mark).

(v) Section—B consists of :

(a) Question Nos. 30 to 35 Very Short Answer-type Questions carrying

2 marks each to be answered in the range of 30 to 50 words.

(b) Question Nos. 36 to 41 Short Answer-type Questions carrying

3 marks each to be answered in the range of 50 to 80 words.

(c) Question Nos. 42 to 45 Long Answer-type Questions carrying

5 marks each to be answered in the range of 80 to 120 words.

An internal choice has been provided in some of these questions. You

have to attempt only one of the given choices in such questions.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 45 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ gm‘Zo A§H$ {XE JE h¢&

(iv) IÊS>—H$ ‘| gpå‘{bV h¢ :
(a) à0 g§0 1 go 20 VH$ ~hþ{dH$ënr¶ àíZ h¢& àË¶oH$ 1 A§H$ H$m hmoJm& BZ‘| go àË¶oH$ àíZ

‘| {XE JE Mma {dH$ënm| ‘| g~go Cn¶wº$ {dH$ën H$m M¶Z H$a| Am¡a {bI|&
(b) à0 g§0 21 go 29 VH$ dñVw{Zð> àíZ h¢& à0 g§0 21 go 23 VH$ àË¶oH$ Ho$ {bE 2 A§H$

h¢& (1 A§H$ Ho$ 2 Cn^mJm| g{hV) Am¡a à0 g§0 24 go 29 VH$ 4 A§H$ Ho$ h¢ (1 A§H$
Ho$ 4 Cn^mJm| g{hV)&
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SECTION—A

IÊS>—H$

1. A statistician represents the organized data by considering the midpoints
of the class intervals. This will help him to make a

(A) frequency polygon (B) bar diagram

(C) histogram (D) pie chart 1

EH$ gm§p»¶H$s{dX² dJ© A§Vamb Ho$ ‘Ü¶-{~§XþAm| na {dMma H$aHo$ g§J{R>V S>oQ>m H$m à{V{Z{YËd H$aVm
h¡& Bggo Cgo _____ ~ZmZo ‘| ‘XX {‘boJr&

(A) Amd¥{Îm ~hþ^wO (B) X§S> AmaoI

(C) {hñQ>moJ«m‘ (D) nmB© MmQ>©

2. The counsellor advised Arnav to restrict his screen time and utilize that
time for physical exercises as that would enhance his well-being. Identify
the goal of psychological research here. 1

(A) To describe (B) To explain

(C) To control (D) To predict

(v) IÊS>—I ‘| gpå‘{bV h¢ :
(a) à0 g§0 30 go 35 VH$, 2 A§H$m| dmbo A{V bKw àíZm| Ho$ CÎma 30 go 50 eãXm| H$s gr‘m

‘| XoZo h¢&
(b) à0 g§0 36 go 41 VH$, 3 A§H$m| dmbo bKw àíZm| Ho$ CÎma 50 go 80 eãXm| H$s gr‘m ‘|

XoZo h¢&
(c) à0 g§0 42 go 45 VH$, 5 A§H$m| dmbo XrK© àíZm| Ho$ CÎma 80 go 120 eãXm| H$s gr‘m

‘| XoZo h¢&

BZ‘| go Hw$N> àíZm| ‘| Am§V[aH$ {dH$ën ^r {XE JE h¢& AmnH$mo CZ‘| go {H$gr EH$ H$m hr CÎma
XoZm h¡&

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& Xmonha 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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nam‘e©XmVm Zo AZ©d H$mo gbmh Xr {H$ dh AnZm ñH«$sZ Q>mB‘ gr{‘V aIo Am¡a g‘¶ H$m Cn¶moJ emar[aH$
ì¶m¶m‘ Ho$ {bE H$ao ³¶m|{H$ Bggo CgH$m ñdmñÏ¶ ~ohVa hmoJm& ¶hm± ‘Zmod¡km{ZH$ emoY Ho$ bú¶ H$s
nhMmZ H$a|&

(A) dU©Z H$aZm (B) ì¶m»¶m H$aZm

(C) {Z¶§ÌU H$aZm (D) nyd©H$WZ H$aZm

3. Freud used hypnosis and dream interpretation to treat his patients. Which
school of Psychology did he belong to? 1

(A) Humanistic (B) Behaviouristic

(C) Psychodynamic (D) Cognitive

’«$m°¶S> AnZo amo{J¶m| Ho$ CnMma Ho$ {bE gå‘mohZ Am¡a ñdßZ ì¶m»¶m H$m Cn¶moJ H$aVo Wo& do ‘Zmo{dkmZ
Ho$ {H$g ñHy$b go g§~§{YV Wo?

(A) ‘mZdVmdmXr (B) ì¶dhmadmXr

(C) ‘ZmoJ{VH$ (D) g§kmZmË‘H$

4. Distant mountains appear blue due to scattering of blue light in the
atmosphere, whereas the same mountains appear closer when the
atmosphere is clear. This is an example of

(A) aerial perspective (B) light and shade

(C) texture gradient (D) relative size 1

dm¶w‘§S>b ‘| Zrbr amoeZr Ho$ {~Iamd Ho$ H$maU Xÿa Ho$ nhm‹S> Zrbo {XImB© XoVo h¢, O~{H$ dm¶w‘§S>b gm’$
hmoZo na dhr nhm‹S> gm’$ {XImB© XoVo h¢& ¶h CXmhaU h¡

(A) dm¶w¶mZ n[aàoú¶ H$m (B) àH$me Am¡a N>m¶m H$m

(C) ~wZmdQ>r àdUVm H$m (D) g§~§{YV AmH$ma H$m

5. Ravi organizes the information that he has to remember to make retrieval
very easy. Ravi is using

(A) locus (B) mnemonics

(C) retrieval (D) preview 1
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a{d ¶mX aIZodmbr OmZH$mar H$mo ì¶dpñWV H$aVm h¡ Vm{H$ Cgo nwZ… àmá H$aZm ~hþV AmgmZ hmo OmE&
a{d Cn¶moJ H$a ahm h¡

(A) ñWmZ{d{Y H$m (B) {Z‘mo{Z³g H$m

(C) nwZéÕma H$m (D) nydm©dbmoH$Z (àrì¶y) H$m

6. Police vehicles and ambulances have flickering and flashing lights along
with a loud siren for people to notice them. Identify the two external
factors here that help people to attend them. 1

(A) Novelty and size (B) Movement and intensity

(C) Change and repetition (D) Clarity and colours

nw{bg dmhZm| Am¡a Eå~wb|g ‘| {Q>‘{Q>‘mVr Am¡a M‘H$Vr bmBQ>| hmoVr h¢ Am¡a gmW hr VoO gm¶aZ ^r
hmoVm h¡ Vm{H$ bmoJ CZ na Ü¶mZ X|& ¶hm± CZ Xmo ~mhar H$maH$m| H$s nhMmZ H$a|, Omo bmoJm| H$mo CZ
na Ü¶mZ XoZo ‘| ‘XX H$aVo h¢&

(A) ZdrZVm Am¡a AmH$ma (B) J{VerbVm Am¡a Vrd«Vm

(C) n[adV©Z Am¡a Amd¥{Îm (D) ñnï>Vm Am¡a a§J

7. When a number of motionless pictures are presented in a quick succession
one after the other, they appear to be moving. This illusion is called

(A) the Poggendorff illusion

(B) the Zollner illusion

(C) the Ponzo illusion

(D) the apparent movement illusion 1

O~ H$B© pñWa {MÌ EH$ Ho$ ~mX EH$ VoOr go àñVwV {H$E OmVo h¢, Vmo do MbVo hþE àVrV hmoVo h¢&
Bg ^«‘ H$mo H$hm OmVm h¡

(A) nmoJoZS>m°’©$ ^«‘

(B) OmoëZa ^«‘

(C) nm|Omo ^«‘

(D) {XImB© XoZo dmbm MbZ ^«‘
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8. When you hear footsteps at night, the heart races and muscles get tense
and thus you feel scared. This example is an explanation of

(A) the James-Lange theory (B) the Cannon-Bard theory

(C) the Schachter-Singer theory (D) the James-Bard theory 1

O~ Amn amV ‘| H$X‘m| H$s AmhQ> gwZVo h¢, Vmo {Xb H$s Y‹S>H$Z| VoO hmo OmVr h¢ Am¡a ‘m§gno{e¶m±
VZmdJ«ñV hmo OmVr h¢ Am¡a Bg Vah AmnH$mo S>a bJVm h¡& ¶h CXmhaU {H$gH$s ì¶m»¶m H$aVm h¡?

(A) Ooåg-bm§Oo {gÕm§V (B) H¡$ZZ-~mS>© {gÕm§V

(C) e¡³Q>a-qgJa {gÕm§V (D) Ooåg-~mS>© {gÕm§V

9. The processes involved in transforming sensation to perception is called

(A) sensation (B) perception

(C) transduction (D) attention 1

g§doXZm H$mo YmaUm ‘| ~XbZo ‘| em{‘b à{H«$¶mAm| H$mo H$hm OmVm h¡

(A) g§doXZm (B) AZw^y{V/àË¶jU

(C) à{V^mg (D) AdYmZ

10. Information stored in long-term memory for a long time is due to

(A) elaborative rehearsal (B) maintenance rehearsal

(C) attention (D) rote learning 1

XrK©H$m{bH$ ñ‘¥{V ‘| gyMZm b§~o g‘¶ VH$ {H$g dOh go g§J«hrV ahVr h¡?

(A) {dñV¥V nydm©ä¶mg (B) AZwajU nydm©ä¶mg

(C) AdYmZ (D) aQ>Zm

11. Roger has not understood the meaning of the lyrics of a song but mere
repetition of the song has helped him to remember it well. This is due to

(A) maintenance rehearsal (B) elaborative rehearsal

(C) chunking (D) keyword method 1

amoOa H$mo JmZo Ho$ ~mobm| H$m AW© g‘P ‘| Zht Am¶m, bo{H$Z JmZo H$mo ~ma-~ma XmohamZo go Cgo JmZo
H$mo AÀN>r Vah ¶mX aIZo ‘| ‘XX {‘br& Eogm _____ Ho$ H$maU hmoVm h¡&

(A) AZwajU nydm©ä¶mg (B) {dñVmanaH$ nydm©ä¶mg

(C) I§S>r¶Z {d{Y (D) ‘w»¶eãX {d{Y
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12. What is stranger anxiety faced by the infants? 1

(A) Fear of being separated from parents

(B) Fear of being kidnapped by a stranger

(C) Fear of being left in an unknown place

(D) Fear of persona they do not recognize

{eewAm| H$mo hmoZo dmbr AOZ~r qMVm ³¶m hmoVr h¡?

(A) ‘mVm-{nVm go AbJ {H$E OmZo H$m S>a

(B) AOZ~r Ûmam AnhaU {H$E OmZo H$m S>a

(C) AZOmZ OJh na N>mo‹S> {XE OmZo H$m S>a

(D) Eogo ì¶{º$Ëd H$m S>a {Ogo do nhMmZ Zht nmVo

13. What is the aim of early stimulation during infancy? 1

(A) To accelerate development

(B) To force the child to achieve goals

(C) To optimize infant’s development in different domains

(D) To encourage early maturation

e¡edmdñWm Ho$ Xm¡amZ àma§{^H$ CÎmoOZm H$m ³¶m CÔoí¶ h¡?

(A) {dH$mg H$mo J{V àXmZ H$aZm

(B) ~ƒo H$mo bú¶ hm{gb H$aZo Ho$ {bE ‘O~ya H$aZm

(C) {d{^Þ joÌm| ‘| {eew Ho$ {dH$mg H$mo AZwHy${bV H$aZm

(D) erK« n[an¹$Vm H$mo àmoËgm{hV H$aZm

14. A child adjusts his schema to fit in new information and experiences.
Identify this process of actively constructing his cognitive world. 1

(A) Accommodation (B) Organization

(C) Equilibration (D) Assimilation
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EH$ ~ƒm ZB© OmZH$mar Am¡a AZw^dm| ‘| {’$Q> H$aZo Ho$ {bE AnZr ¶moOZmAm| H$mo g‘m¶mo{OV H$aVm h¡&
AnZr g§kmZmË‘H$ Xþ{Z¶m H$mo g{H«$¶ ê$n go g§aMZmË‘H$ ~ZmZo H$s Bg à{H«$¶m H$mo nhMmZ|&

(A) g‘m¶moOZ (B) g§JR>Z

(C) g§VwbZ (D) AmË‘gmV H$aZm

15. A small child feels that the moon follows her everywhere because it cares
for her like a family member. This is due to

(A) centration (B) animism

(C) conservation (D) egocentrism 1

EH$ N>moQ>o ~ƒo H$mo Eogm bJVm h¡ {H$ Mm±X ha OJh CgH$m nrN>m H$aVm h¡ ³¶m|{H$ dh n[adma Ho$ gXñ¶m|
H$s Vah CgH$m »¶mb aIVm h¡& Eogm _____ Ho$ H$maU hmoVm h¡&

(A) H|$ÐrH$aU (B) OrddmX

(C) g§ajU (D) Ah§H|${ÐVVm

16. Which of the following is true for learning? 1

(A) Learning refers to a permanent change in behaviour due to schooling
only

(B) Learning refers to a relatively permanent change in behaviour due to
training or experience

(C) Learning refers to a temporary change in behaviour due to training or
experience

(D) Learning refers to no change in behaviour due to training or
experience

{ZåZ{b{IV ‘| go H$m¡Z-gm grIZo Ho$ {df¶ ‘| gË¶ h¡?

(A) grIZm Ho$db ñHy$br {ejm Ho$ H$maU ì¶dhma ‘| AmZo dmbo ñWm¶r n[adV©Z H$mo g§X{^©V
H$aVm h¡

(B) grIZm à{ejU ¶m AZw^d Ho$ H$maU ì¶dhma ‘| hmoZo dmbo ñWm¶r n[adV©Z H$mo g§X{^©V
H$aVm h¡

(C) grIZm à{ejU ¶m AZw^d Ho$ H$maU ì¶dhma ‘| hmoZo dmbo AñWm¶r n[adV©Z H$mo g§X{^©V
H$aVm h¡

(D) grIZo go VmËn¶© à{ejU ¶m AZw^d Ho$ H$maU ì¶dhma ‘| H$moB© n[adV©Z Z hmoZm h¡
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17. Guri, an infant, grasps anything that touches his palm. Identify this reflex. 1

(A) Rooting (B) Moro

(C) Sucking (D) Grasping

Jwar, EH$ {eew, O~ ^r H$moB© CgH$s hWobr H$mo Ny>Vm h¡, Vmo dh Cgo nH$‹S> boVm h¡& Bg à{VdV©
([aâbo³g) H$mo nhMmZ|&

(A) ê$qQ>J (B) ‘moamo

(C) MygZm (D) J«¡g²qnJ

18. At which stage of cognitive development, the children are able to do
abstract thinking and are able to think logically? 1

(A) Formal operational (B) Preoperational

(C) Sensory motor (D) Concrete operational

g§kmZmË‘H$ {dH$mg H$s {H$g AdñWm ‘| ~ƒo A‘yV© qMVZ H$aZo ‘| gj‘ hmoVo h¢ Am¡a Vm{H©$H$ ê$n
go gmoMZo ‘| gj‘ hmoVo h¢?

(A) Am¡nMm[aH$ g§{H«$¶mË‘H$ (B) nyd©-g§{H«$¶mË‘H$

(C) g§doXr Jm‘H$ (D) ‘yV© g§{H«$¶mË‘H$

19. Identify the statement that is not true to socioemotional development in
children. 1

(A) Ability to climb mountains

(B) Ability to interact with others

(C) Ability to judge the emotional reactions of others

(D) Ability to understand and manage one’s own emotions

~ƒm| Ho$ gm‘m{OH$-^mdZmË‘H$ {dH$mg Ho$ g§~§Y ‘| Cg H$WZ H$s nhMmZ H$a|, Omo gË¶ Zht h¡&

(A) nhm‹S>m| na M‹T>Zo H$s j‘Vm

(B) Xÿgam| Ho$ gmW ~mVMrV H$aZo H$s j‘Vm

(C) Xÿgam| H$s ^mdZmË‘H$ à{V{H«$¶mAm| H$m AmH$bZ H$aZo H$s j‘Vm

(D) AnZr ^mdZmAm| H$mo g‘PZo Am¡a à~§{YV H$aZo H$s j‘Vm
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20. Anorexia nervosa is a disorder where the individual

(A) starves oneself to remain thin

(B) eats lavishly and then self induce vomiting

(C) indulges in unhealthy eating and excessive dieting

(D) eats things like chalk, etc., that are not food 1

EZmoaop³g¶m Zdm}gm EH$ {dH$ma h¡, {Og‘| ì¶{º$

(A) nVbm ahZo Ho$ {bE IwX H$mo ^yIm aIVm h¡

(B) Iy~ ImVm h¡ Am¡a {’$a IwX hr CëQ>r H$aVm h¡

(C) AñdmñÏ¶H$a ^moOZ Am¡a AË¶{YH$ S>mBqQ>J ‘| {bá hmoVm h¡

(D) MmH$ Am{X O¡gr MrO| ImVm h¡ Omo ^moOZ Zht h¢

21. Identify the trait theorists with the theories given below : 2

(a) This trait theorist distinguished between the observable behaviour
and underlying internal tendencies that produce that behaviour.

(b) This theorist assumed that there are central traits that each individual
possesses.

ZrMo {XE JE {gÕm§Vm| Ho$ AmYma na JwU-bjU {gÕm§VH$mam| H$s nhMmZ H$a| :

(H$) Bg JwU-bjU {gÕm§VH$ma Zo AdbmoH$Zr¶ ì¶dhma Am¡a Cg ì¶dhma H$mo CËnÞ H$aZo dmbr
A§V{Z©{hV Am§V[aH$ àd¥{Îm¶m| Ho$ ~rM A§Va {H$¶m&

(I) Bg {gÕm§VH$ma Zo ¶h ‘mZm {H$ àË¶oH$ ì¶{º$ Ho$ nmg Hw$N> H|$Ðr¶ JwU hmoVo h¢&

22. The following data shows marks obtained by 10 students in a Mathematics
test :

30, 50, 60, 25, 50, 70, 80, 50, 75, 50

(a) Calculate the mode for the data given above.

(b) Calculate the mean for the data given above. 2
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{ZåZ{b{IV Am±H$‹S>o J{UV H$s EH$ narjm ‘| 10 N>mÌm| Ûmam àmá A§H$m| H$mo Xem©Vo h¢ :

30, 50, 60, 25, 50, 70, 80, 50, 75, 50

(H$) D$na {XE JE S>oQ>m Ho$ {bE ~hþbH$ H$s JUZm H$a|&

(I) D$na {XE JE S>oQ>m Ho$ {bE ‘mÜ¶ H$s JUZm H$a|&

23. Identify the leadership theory in the following statements : 2

(a) Great leaders are born and have a unique background which makes
them different from the followers.

(b) Individual associated with certain personality traits like intelligence,
self-confidence, creativity, integrity, etc., has the tendency to lead
others.

{ZåZ{b{IV H$WZm| Ho$ ZoV¥Ëd {gÕm§V H$s nhMmZ H$a| :

(H$) ‘hmZ ZoVm OÝ‘OmV hmoVo h¢ Am¡a CZH$s n¥ð>^y{‘ {d{eï> hmoVr h¡ Omo CÝh| AZw¶m{¶¶m| go AbJ
~ZmVr h¡&

(I) ~w{Õ‘Îmm, AmË‘{dídmg, aMZmË‘H$Vm, B©‘mZXmar Am{X O¡go ì¶{º$Ëd bjUm| go Ow‹S>o ì¶{º$ ‘| Xÿgam|
H$m ZoV¥Ëd H$aZo H$s àd¥{Îm hmoVr h¡&

24. Match the following : 1×4=4

Kind of self Characteristics

(a) Self-esteem (i) Positive or negative thoughts about
oneself

(b) Self-efficacy (ii) The self that one strives to be though
may not achieve

(c) Self-concept (iii) It is the sum of all positive evaluations

(d) Ideal self (iv) A person high on this will take up
challenges and spend time and effort
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{ZåZ{b{IV H$m {‘bmZ H$a| :

AmË‘ Ho$ àH$ma {deofVmE±

(a) AmË‘-gå‘mZ (i) ñd¶§ Ho$ ~mao ‘| gH$mamË‘H$ ¶m ZH$mamË‘H$ {dMma

(b) AmË‘-à^mdH$m[aVm (ii) ì¶{º$ {Og ñd H$mo àmá H$aZo H$m à¶mg H$aVm h¡, dh ^bo
hr àmá Z hmo

(c) AmË‘-AdYmaUm (iii) ¶h g^r gH$mamË‘H$ ‘yë¶m§H$Zm| H$m ¶moJ h¡

(d) AmXe© ñd (iv) Bg Cƒ ñVa na ì¶{º$ MwZm¡{V¶m| H$mo ñdrH$maoJm, g‘¶

XoJm Am¡a à¶mg H$aoJm

25. In the following cases, identify the factors that are leading to attitude
change from the choices given below : 1×4=4

( Message characteristics; source credibility; target characteristics;
source attractiveness )

(a) A doctor telling about the importance of regular exercise and walk,
will help in changing attitude of the residents towards fitness.

(b) People who are flexible and open to new thoughts change attitude
more easily.

(c) A young adolescent girl uses a particular brand of cream, as the
beautiful model whom she idolizes, also uses the same product.

(d) A cooking oil company sells the product with the catch line ‘Buy this
cooking oil if you care for the health of your family’.

{ZåZ{b{IV ‘m‘bm| ‘| ZrMo {XE JE {dH$ënm| ‘| go CZ H$maH$m| H$s nhMmZ H$a| Omo A{^d¥{Îm ‘| n[adV©Z
H$m H$maU ~Zo h¢ :

( g§Xoe {deofVmE±; òmoV {dídgZr¶Vm; bú¶ {deofVmE±; òmoV AmH$f©U )

(H$) {Z¶{‘V ì¶m¶m‘ Am¡a g¡a Ho$ ‘hÎd Ho$ ~mao ‘| ~VmZo dmbo S>m°³Q>a go {Zdm{g¶m| H$s ñdñWVm Ho$
à{V A{^d¥{Îm ~XbZo ‘| ‘XX {‘boJr&

(I) Omo bmoJ bMrbo hmoVo h¢ Am¡a ZE {dMmam| Ho$ à{V Iwbo hmoVo h¢, do A{YH$ AmgmZr go AnZr
A{^d¥{Îm ‘| n[adV©Z bo AmVo h¢&

(J) EH$ ¶wdm {H$emoar EH$ {deof ~«m§S> H$s H«$s‘ H$m Cn¶moJ H$aVr h¡, ³¶m|{H$ {Og Iy~gyaV ‘m°S>b
H$mo dh AnZm AmXe© ‘mZVr h¡, dh ^r Cgr CËnmX H$m Cn¶moJ H$aVr h¡&

(K) EH$ ImZm nH$mZo dmbo Vob H$s H§$nZr Bg AmH$f©H$ bmBZ Ho$ gmW CËnmX ~oMVr h¡, "¶{X Amn
AnZo n[adma Ho$ ñdmñÏ¶ H$s nadmh H$aVo h¢, Vmo ¶h ImZm nH$mZo H$m Vob IarX|'&
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26. Fill in the blanks with the correct words : 1×4=4

(a) Data collected by the researcher in an unorganized form is called
_____ data.

(b) Data that is represented singularly and then arranged in ascending or
descending order is called _____ series.

(c) When the frequency of observations is taken to organize the data,
_____ series can be prepared.

(d) _____ bars are used in a frequency table to represent every single
entry.

[aº$ ñWmZm| H$s ghr eãX go ny{V© H$a| :

(H$) emoYH$Vm©Am| Ûmam Ag§J{R>V ê$n go EH${ÌV Am±H$‹S>m| H$mo _____ Am±H$‹S>o H$hm OmVm h¡&

(I) S>oQ>m H$mo EH$b ê$n ‘| àX{e©V H$aHo$ Amamohr ¶m Adamohr H«$‘ ‘| ì¶dpñWV H$aZo H$mo _____

ûm§¥Ibm H$hm OmVm h¡&$

(J) O~ Am±H$‹S>mo| H$mo ì¶dpñWV H$aZo Ho$ {bE àojUm| H$s Amd¥{Îm br OmVr h¡, Vmo _____ ûm§¥Ibm
V¡¶ma H$s Om gH$Vr h¡&

(K) àË¶oH$ à{d{ï> H$mo Xem©Zo Ho$ {bE _____ ~ma H$m Cn¶moJ Amd¥{Îm Vm{bH$m ‘| {H$¶m OmVm h¡&

27. Identify the principle of perceptual organization from the statements given
below : 1×4=4

(a) We tend to fill in the gaps and perceive objects as whole rather than
their separate parts.

(b) We tend to perceive objects as belonging together if they appear to
form continuous pattern.

(c) Objects that are close together in space or time are perceived as
belonging together.

(d) Objects that are similar to each other are perceived as a group.
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ZrMo {XE JE H$WZm| go AdYmaUmË‘H$ g§JR>Z Ho$ {gÕm§V H$s nhMmZ H$a| :

(H$) h‘ A§Vamb H$mo ^aZo H$m à¶mg H$aVo h¢ VWm dñVwAm| H$mo CZHo$ AbJ-AbJ ^mJm| ‘| XoIZo
Ho$ ~Om¶ g§nyU© ê$n ‘| XoIVo h¢&

(I) h‘ dñVwAm| H$mo Amng ‘| g§~§{YV ‘mZVo h¢ ¶{X do {Za§Va n¡Q>Z© ~ZmVr hþB© àVrV hmoVr h¢&

(J) ñWmZ ¶m g‘¶ ‘| EH$-Xÿgao Ho$ {ZH$Q> pñWV dñVwAm| H$mo EH$-Xÿgao go g§~§{YV ‘mZm OmVm h¡&

(K) EH$-Xÿgao Ho$ g‘mZ dñVwAm| H$mo EH$ g‘yh Ho$ ê$n ‘| XoIm OmVm h¡&

28. Identify the type of intelligence each individual possesses, in the following
cases, using Gardner’s theory of intelligence : 1×4=4

(a) Richa, a poet, can use language fluently and is word smart.

(b) Mona, a Mathematics teacher, can think logically and can engage in
abstract reasoning.

(c) Rohit, a gymnast, excels in using his whole body to create postures.

(d) Rishi, a table player, can produce and create musical patterns.

{ZåZ{b{IV ‘m‘bm| ‘| àË¶oH$ ì¶{º$ ‘| {H$g àH$ma H$s ~w{Õ h¡, JmS>©Za Ho$ ~w{Õ {gÕm§V Ho$ AmYma
na nhMmZ H$a| :

(H$) [aMm, EH$ H$d{¶Ìr h¡ Am¡a ^mfm H$m Ymam àdmh à¶moJ H$a gH$Vr h¡ VWm eãXm| na CgH$s AÀN>r
nH$‹S> h¡&

(I) ‘moZm, EH$ J{UV {e{jH$m h¡ Omo Vm{H©$H$ ê$n go gmoM gH$Vr h¡ Am¡a A‘yV© VH©$ ‘| g§b¾ hmo
gH$Vr h¡&

(J) amo{hV, EH$ {O‘ZmñQ> h¡ Omo AmgZ ~ZmZo Ho$ {bE AnZo nyao eara H$m Cn¶moJ H$aZo ‘| ‘m{ha h¡&

(K) F${f, EH$ Q>o~b ßbo¶a h¡ Omo g§JrV n¡Q>Z© H$m {Z‘m©U Am¡a aMZm H$a gH$Vm h¡&
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29. Fill in the blanks with the correct answer : 1×4=4

(a) Decrease in performance of an individual when performing an activity
as part of a group rather than when alone is due to _____.

(b) When an individual’s performance is improved by the presence of
others is called _____.

(c) When group members try to maintain the unity of the group
rather than taking correct decisions and rational judgements, it is
called _____.

(d) Tendency of the group to take extreme actions rather than initial
actions or decisions of the individual members is called _____.

ghr CÎma go [aº$ ñWmZ H$s ny{V© H$a| :

(H$) _____ Ho$ H$maU AHo$bo {ZînmXZ H$aZo H$s VwbZm ‘|, EH$ g‘yh Ho$ {hñgo Ho$ ê$n ‘| H$moB© J{V{d{Y
H$aZo na ì¶{º$ Ho$ {ZînmXZ ‘| H$‘r AmVr h¡&

(I) O~ {H$gr ì¶{º$ H$m {ZînmXZ Xÿgao H$s CnpñW{V go ~ohVa hmoVm h¡, _____ H$hbmVm h¡&

(J) O~ g‘yh Ho$ gXñ¶ ghr {ZU©¶ Am¡a Vm{H©$H$ {ZU©¶ H$s VwbZm ‘| g‘yh H$s EH$Vm ~ZmE aIZo
H$m à¶mg H$aVo h¢, _____ h¡&

(K) g‘yhm| H$s ì¶{º$JV gXñ¶m| Ho$ àma§{^H$ H$m¶m] ¶m {ZU©¶m| Ho$ ~Om¶ AË¶{YH$ H$m¶©dmhr ¶m {ZU©¶
boZo H$s àd¥{Îm _____ H$hbmVr h¡&

SECTION—B

IÊS>—I

30. (a) How does the Yerkes-Dodson law explain the relationship between
arousal and performance? 2

¶H}$g-S>moS>gZ {Z¶‘ CÎmoOZm Am¡a àXe©Z Ho$ ~rM g§~§Y H$s ì¶m»¶m H¡$go H$aVm h¡?

Or / AWdm

(b) How can one overcome hindrances in problem solving?

g‘ñ¶m g‘mYmZ ‘| AmZodmbr ~mYmAm| na H$m~y H¡$go nm¶m Om gH$Vm h¡?
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31. Why does the relationship between parents and adolescents undergo
drastic changes? 2

‘mVm-{nVm Am¡a {H$emoam| Ho$ ~rM g§~§Y Am‘yb n[adV©Z Ho$ Xm¡a go ³¶m| JwOaVm h¡?

32. (a) Man is a social being and the environment that he lives in is
important for his well-being. But there are certain social factors that
lead to poor mental health. Discuss these factors. 2

‘Zwî¶ EH$ gm‘m{OH$ àmUr h¡ Am¡a {Og dmVmdaU ‘| ahVm h¡ dh CgHo$ ñdmñÏ¶ Ho$ {bE ‘hÎdnyU©
h¡& bo{H$Z Hw$N> gm‘m{OH$ H$maH$ ^r h¢ Omo Iam~ ‘mZ{gH$ ñdmñÏ¶ Ho$ {bE CÎmaXm¶r h¢& BZ
H$maH$m| na MMm© H$a|&

Or / AWdm

(b) Manish, a young soldier, has just returned from the border, where in
a terrorist encounter he would have lost his life if he had not
retaliated. Now he is having acute stress thinking about the incident.
Identify the disorder and the symptoms associated with it.

‘Zrf, EH$ ¶wdm g¡{ZH$, hmb hr ‘| gr‘m go bm¡Q>m h¡, Ohm± EH$ AmV§H$dmXr ‘wR>^o‹S> ‘| AJa
CgZo Odm~r H$m¶©dmhr Zht H$s hmoVr Vmo CgH$s OmZ ^r Om gH$Vr Wr& A~ dh Bg KQ>Zm H$mo
gmoMH$a ~hþV VZmd ‘| h¡& Bg {dH$ma Am¡a Cggo Ow‹S>o bjUm| H$mo nhMmZ|&

33. Raminder, a new teacher, would soon be teaching in a High School, where
he would be dealing with adolescents. What should his role be towards the
adolescents apart from teaching? 2

aq‘Xa, EH$ Z¶m {ejH$, OëXr hr EH$ hmB© ñHy$b ‘| n‹T>mZo bJoJm, Ohm± CÝh| {H$emoam| Ho$ gmW H$m‘
H$aZm hmoJm& {ejU Ho$ Abmdm {H$emoam| Ho$ à{V CZH$s ³¶m ^y{‘H$m hmoZr Mm{hE?

34. (a) What is the difference between introverts and extroverts as given
by Jung? 2

¶w§J Ûmam A§V‘w©Ir Am¡a ~{h‘w©Ir Ho$ ~rM ³¶m A§Va ~Vm¶m J¶m?

Or / AWdm

(b) What is the difference between self-efficacy and self-esteem?

AmË‘-à^mdH$m[aVm Am¡a AmË‘-gå‘mZ Ho$ ~rM ³¶m A§Va h¡?
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35. How are predisposing factors different from precipitating factors? 2

nhbo go àd¥Îm hmoZo dmbo H$maH$ AZno{jV H$maH$m| go {H$g àH$ma {^Þ h¢?

36. If we look at a circle-like figure which is incomplete, we still say it’s a
circle. Which school of Psychology supports this statement? Explain. 3

¶{X h‘ {H$gr d¥Îm O¡gr AmH¥${V H$mo XoI| Omo {H$ AYyar h¡, V~ ^r h‘ H$h|Jo {H$ ¶h EH$ d¥Îm h¡&
‘Zmo{dkmZ H$m H$m¡Z-gm ñHy$b Bg H$WZ H$m g‘W©Z H$aVm h¡? g‘PmE±&

37. (a) Why are substance use and drugs harmful for the young adolescents? 3

¶wdmAm| Ho$ {bE ‘mXH$ Ðì¶m| Am¡a S´>½g H$m godZ hm{ZH$maH$ ³¶m| h¡?

Or / AWdm

(b) How are cognitive attainments reflected during concrete operational
stage?

‘yV© g§{H«$¶mË‘H$ MaU Ho$ Xm¡amZ g§kmZmË‘H$ CnbpãY¶m± {H$g àH$ma à{Vq~{~V hmoVr h¢?

38. (a) Rajesh keeps checking the door to see if it is latched well or not. This
has led to sleepless nights. Identify Rajesh’s disorder and the
symptoms of the disorder. 3

amOoe ~ma-~ma XadmOm MoH$ H$aVm ahVm h¡ {H$ XadmOm R>rH$ go ~§X h¡ ¶m Zht& Bg dOh go
CgH$s amVm| H$s ZtX C‹S> JB© h¡& amOoe Ho$ ‘Zmo{dH$ma Am¡a {dH$ma Ho$ bjUm| H$mo nhMm{ZE&

Or / AWdm

(b) You have been told to spread awareness about mental health and its
causes. What are the three ways in which you can promote mental
health activities in your school?

AmnH$mo ‘mZ{gH$ ñdmñÏ¶ Am¡a BgHo$ H$maUm| Ho$ ~mao ‘| OmJê$H$Vm ’¡$bmZo Ho$ {bE H$hm J¶m h¡&
Eogo H$m¡Z-go VrZ VarHo$ h¢, {OZgo Amn AnZo ñHy$b ‘| ‘mZ{gH$ J{V{d{Y¶m| H$mo ~‹T>mdm Xo
gH$Vo h¢?
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39. (a) How do teachers view giftedness and what do they do to help gifted
children achieve full potential? 3

{ejH$ à{V^m H$mo {H$g àH$ma XoIVo h¢ VWm à{V^membr ~ƒm| H$mo CZH$s nyU© j‘Vm àmá H$aZo
‘| ghm¶Vm H$aZo Ho$ {bE do ³¶m H$aVo h¢?

Or / AWdm

(b) How can intelligence quotient be calculated?

~w{Õ bpãY (IQ) H$s JUZm H¡$go H$s Om gH$Vr h¡?

40. (a) Describe the three major types of research designs used by
psychologists for research investigation. 3

emoY narjU Ho$ {bE ‘Zmod¡km{ZH$m| Ûmam Cn¶moJ {H$E OmZo dmbo VrZ à‘wI àH$ma Ho$ emoY {S>OmBZm|
H$m {ddaU X|&

Or / AWdm

(b) How are quasi and field experiment conducted by the researcher?

emoYH$Vm© Ûmam AY© Am¡a joÌ à¶moJ H¡$go g§Mm{bV {H$E OmVo h¢?

41. What are phobias? Explain any two types of phobias. 3

’$mo{~¶m (Xþ^u{V) ³¶m h¡? BgHo$ {H$Ýht Xmo àH$mam| Ho$ ~mao ‘| ~VmE±&

42. (a) How do effective strategies help in maintaining health and hygiene?
Suggest any five strategies. 5

ñdmñÏ¶ Am¡a ñdÀN>Vm ~ZmE aIZo ‘| à^mdr aUZr{V¶m± {H$g àH$ma ghm¶H$ hmoVr h¢? H$moB© nm±M
aUZr{V¶m± gwPmE±&

Or / AWdm

(b) How are psychological factors responsible for poor mental health?
Discuss any five factors.

Iam~ ‘mZ{gH$ ñdmñÏ¶ Ho$ {bE ‘Zmod¡km{ZH$ H$maH$ {H$g àH$ma CÎmaXm¶r h¢? {H$Ýht nm±M H$maH$m|
na MMm© H$a|&
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43. Rita has a lot of problems in memorizing theories and names of
psychologists. What strategies would you suggest to her to enhance her
memory? Explain any five. 5

arVm H$mo ‘Zmod¡km{ZH$m| Ho$ {gÕm§Vm| Am¡a Zm‘m| H$mo ¶mX aIZo ‘| ~hþV naoemZr hmoVr h¡& CgH$s ñ‘aU-
e{º$ H$mo ~‹T>mZo Ho$ {bE Amn Cgo H$m¡Z-gr aUZr{V¶m± gwPmE±Jo? {H$Ýht nm±M H$s ì¶m»¶m H$a|&

44. How does formation of attitude take place? Give any five sources. 5

A{^d¥{Îm H$m {Z‘m©U H¡$go hmoVm h¡? H$moB© nm±M òmoV ~VmE±&

45. (a) What are the characteristics of creative thinkers? Explain any five. 5

aMZmË‘H$ qMVH$mo| H$s ³¶m {deofVmE± hmoVr h¢? {H$Ýht nm±M H$s ì¶m»¶m H$a|&

Or / AWdm

(b) Discuss any five barriers to sound decision-making. 1×5=5

ghr {ZU©¶ boZo ‘| AmZo dmbr {H$Ýht nm±M ~mYmAm| H$s MMm© H$a|&


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A¶mo½¶ R>ham¶m OmEJm&

4. AnZr CÎma-nwpñVH$m na àíZ-nÌ H$m H$moS> Z§0 69/MAY/4, goQ w {bI|&
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(iii) Marks are given against each question.

(iv) Section—A consists of :

(a) Question Nos. 1 to 20 Multiple Choice-type Questions (MCQs)

carrying 1 mark each. Select and write the most appropriate option

out of the four options given in each of these questions.

(b) Question Nos. 21 to 29 Objective-type questions. Question Nos. 21

to 23 carry 2 marks each (with 2 subparts of 1 mark) and Question

Nos. 24 to 29 carry 4 marks each (with 4 subparts of 1 mark).

(v) Section—B consists of :

(a) Question Nos. 30 to 35 Very Short Answer-type Questions carrying

2 marks each to be answered in the range of 30 to 50 words.

(b) Question Nos. 36 to 41 Short Answer-type Questions carrying

3 marks each to be answered in the range of 50 to 80 words.

(c) Question Nos. 42 to 45 Long Answer-type Questions carrying

5 marks each to be answered in the range of 80 to 120 words.

An internal choice has been provided in some of these questions. You

have to attempt only one of the given choices in such questions.

{ZX}e … (i) Bg àíZ-nÌ ‘| Hw$b 45 àíZ h¢&

(ii) g^r àíZ A{Zdm¶© h¢&

(iii) àË¶oH$ àíZ Ho$ gm‘Zo A§H$ {XE JE h¢&

(iv) IÊS>—H$ ‘| gpå‘{bV h¢ :
(a) à0 g§0 1 go 20 VH$ ~hþ{dH$ënr¶ àíZ h¢& àË¶oH$ 1 A§H$ H$m hmoJm& BZ‘| go àË¶oH$ àíZ

‘| {XE JE Mma {dH$ënm| ‘| g~go Cn¶wº$ {dH$ën H$m M¶Z H$a| Am¡a {bI|&
(b) à0 g§0 21 go 29 VH$ dñVw{Zð> àíZ h¢& à0 g§0 21 go 23 VH$ àË¶oH$ Ho$ {bE 2 A§H$

h¢& (1 A§H$ Ho$ 2 Cn^mJm| g{hV) Am¡a à0 g§0 24 go 29 VH$ 4 A§H$ Ho$ h¢ (1 A§H$
Ho$ 4 Cn^mJm| g{hV)&
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SECTION—A

IÊS>—H$

1. When you are playing a game of chess, the persons around you may not
guess your next move. This behaviour is an example of

(A) covert behaviour (B) observable behaviour

(C) overt behaviour (D) extrovert behaviour 1

O~ Amn eVa§O H$m Iob Iob aho hm|, Vmo AmnHo$ Amg-nmg Ho$ bmoJm| H$mo AmnH$s AJbr Mmb H$m
A§XmOm Zht bJ nmVm& ¶h ì¶dhma CXmhaU h¡

(A) Jwá ì¶dhma H$m (B) AdbmoH$ZmË‘H$ ì¶dhma H$m

(C) Iwbo ì¶dhma H$m (D) ~{h‘w©Ir ì¶dhma H$m

2. A statistician represents the organized data by considering the midpoints
of the class intervals. This will help him to make a

(A) frequency polygon (B) bar diagram

(C) histogram (D) pie chart 1

(v) IÊS>—I ‘| gpå‘{bV h¢ :
(a) à0 g§0 30 go 35 VH$, 2 A§H$m| dmbo A{V bKw àíZm| Ho$ CÎma 30 go 50 eãXm| H$s gr‘m

‘| XoZo h¢&
(b) à0 g§0 36 go 41 VH$, 3 A§H$m| dmbo bKw àíZm| Ho$ CÎma 50 go 80 eãXm| H$s gr‘m ‘|

XoZo h¢&
(c) à0 g§0 42 go 45 VH$, 5 A§H$m| dmbo XrK© àíZm| Ho$ CÎma 80 go 120 eãXm| H$s gr‘m

‘| XoZo h¢&

BZ‘| go Hw$N> àíZm| ‘| Am§V[aH$ {dH$ën ^r {XE JE h¢& AmnH$mo CZ‘| go {H$gr EH$ H$m hr CÎma
XoZm h¡&

(1) Answers of all questions are to be given in the Answer-Book given to you.

g^r àíZm| Ho$ CÎma AmnH$mo Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&
(2) 15 minutes time has been allotted to read this question paper. The question

paper will be distributed at 2:15 p.m. From 2:15 p.m. to 2:30 p.m., the
students will read the question paper only and will not write any answer on
the Answer-Book during this period.

Bg àíZ-nÌ H$mo n‹T>Zo Ho$ {bE 15 {‘ZQ> H$m g‘¶ {X¶m J¶m h¡& àíZ-nÌ H$m {dVaU Xmonha ‘|
2:15 ~Oo {H$¶m OmEJm& Xmonha 2:15 ~Oo go 2:30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo Am¡a
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo&
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EH$ gm§p»¶H$s{dX² dJ© A§Vamb Ho$ ‘Ü¶-{~§XþAm| na {dMma H$aHo$ g§J{R>V S>oQ>m H$m à{V{Z{YËd H$aVm
h¡& Bggo Cgo _____ ~ZmZo ‘| ‘XX {‘boJr&

(A) Amd¥{Îm ~hþ^wO (B) X§S> AmaoI

(C) {hñQ>moJ«m‘ (D) nmB© MmQ>©

3. The counsellor advised Arnav to restrict his screen time and utilize that
time for physical exercises as that would enhance his well-being. Identify
the goal of psychological research here. 1

(A) To describe (B) To explain

(C) To control (D) To predict

nam‘e©XmVm Zo AZ©d H$mo gbmh Xr {H$ dh AnZm ñH«$sZ Q>mB‘ gr{‘V aIo Am¡a g‘¶ H$m Cn¶moJ emar[aH$
ì¶m¶m‘ Ho$ {bE H$ao ³¶m|{H$ Bggo CgH$m ñdmñÏ¶ ~ohVa hmoJm& ¶hm± ‘Zmod¡km{ZH$ emoY Ho$ bú¶ H$s
nhMmZ H$a|&

(A) dU©Z H$aZm (B) ì¶m»¶m H$aZm

(C) {Z¶§ÌU H$aZm (D) nyd©H$WZ H$aZm

4. Whenever Kiran travelled by train, she noticed that the distant hills slowly
moved along with her, whereas the trees next to the train moved rapidly
against the direction of the train. This is an example of

(A) texture gradient (B) light and shade

(C) motion parallax (D) relative size 1

{H$aU O~ ^r aobJm‹S>r go ¶mÌm H$aVr Wr Vmo dh XoIVr Wr {H$ Xÿa H$s nhm{‹S>¶m± CgHo$ gmW Yrao-
Yrao MbVr h¢, O~{H$ aobJm‹S>r Ho$ ~Jb ‘| pñWV no‹S> aobJm‹S>r H$s {Xem Ho$ {dnarV VoOr go MbVo
h¢& ¶h EH$ CXmhaU h¡

(A) ~wZmdQ>r àdUVm H$m (B) àH$me Am¡a N>m¶m H$m

(C) ‘moeZ n¡amb¡³g H$m (D) gmnoj AmH$ma H$m

5. A student giving an examination is likely to focus on the instructions given
by the teacher. This is due to which internal factor of attention? 1

(A) Need (B) Interest

(C) Emotional state (D) Competition
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narjm XoZo dmbm N>mÌ {ejH$ Ûmam {XE JE {ZX}em| na Ü¶mZ H|${ÐV H$aZo H$s g§^mdZm aIVm h¡& ¶h
Ü¶mZ Ho$ {H$g Am§V[aH$ H$maH$ Ho$ H$maU h¡?

(A) Amdí¶H$Vm (B) é{M

(C) g§doJr AdñWm (D) à{V¶mo{JVm

6. When you hear footsteps at night, the heart races and muscles get tense
and thus you feel scared. This example is an explanation of

(A) the James-Lange theory (B) the Cannon-Bard theory

(C) the Schachter-Singer theory (D) the James-Bard theory 1

O~ Amn amV ‘| H$X‘m| H$s AmhQ> gwZVo h¢, Vmo {Xb H$s Y‹S>H$Z| VoO hmo OmVr h¢ Am¡a ‘m§gno{e¶m±
VZmdJ«ñV hmo OmVr h¢ Am¡a Bg Vah AmnH$mo S>a bJVm h¡& ¶h CXmhaU {H$gH$s ì¶m»¶m H$aVm h¡?

(A) Ooåg-bm§Oo {gÕm§V (B) H¡$ZZ-~mS>© {gÕm§V

(C) e¡³Q>a-qgJa {gÕm§V (D) Ooåg-~mS>© {gÕm§V

7. Police vehicles and ambulances have flickering and flashing lights along
with a loud siren for people to notice them. Identify the two external
factors here that help people to attend them. 1

(A) Novelty and size (B) Movement and intensity

(C) Change and repetition (D) Clarity and colours

nw{bg dmhZm| Am¡a Eå~wb|g ‘| {Q>‘{Q>‘mVr Am¡a M‘H$Vr bmBQ>| hmoVr h¢ Am¡a gmW hr VoO gm¶aZ ^r
hmoVm h¡ Vm{H$ bmoJ CZ na Ü¶mZ X|& ¶hm± CZ Xmo ~mhar H$maH$m| H$s nhMmZ H$a|, Omo bmoJm| H$mo CZ
na Ü¶mZ XoZo ‘| ‘XX H$aVo h¢&

(A) ZdrZVm Am¡a AmH$ma (B) J{VerbVm Am¡a Vrd«Vm

(C) n[adV©Z Am¡a Amd¥{Îm (D) ñnï>Vm Am¡a a§J

8. What is the aim of early stimulation during infancy? 1

(A) To accelerate development

(B) To force the child to achieve goals

(C) To optimize infant’s development in different domains

(D) To encourage early maturation
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e¡edmdñWm Ho$ Xm¡amZ àma§{^H$ CÎmoOZm H$m ³¶m CÔoí¶ h¡?

(A) {dH$mg H$mo J{V àXmZ H$aZm

(B) ~ƒo H$mo bú¶ hm{gb H$aZo Ho$ {bE ‘O~ya H$aZm

(C) {d{^Þ joÌm| ‘| {eew Ho$ {dH$mg H$mo AZwHy${bV H$aZm

(D) erK« n[an¹$Vm H$mo àmoËgm{hV H$aZm

9. Students are advised by teachers to prepare their study schedule in such
a way that similar subjects are not studied one after the other. Intermittent
rest periods should also be given. This technique of enhancing memory
reduces

(A) retrieval (B) organization

(C) overlapping (D) interference 1

{ejH$mo| Ûmam N>mÌm| H$mo ¶h gbmh Xr OmVr h¡ {H$ do AnZm AÜ¶¶Z H$m H$m¶©H«$‘ Bg Vah go ~ZmE±
{H$ EH$ O¡go {df¶ EH$ Ho$ ~mX EH$ Z n‹T>o OmE±& ~rM-~rM ‘| Amam‘ H$m g‘¶ ^r {X¶m OmZm Mm{hE&
¶mXXmíV ~‹T>mZo H$s ¶h VH$ZrH$ H$‘ H$aVr h¡

(A) nwZéÕma H$mo (B) g§JR>Z H$mo

(C) Amodab¡qnJ H$mo (D) AdamoY H$mo

10. Identify the correct sequence of strategy to help students remember better. 1

(A) Preview, Read, Self-recitation, Test, Question

(B) Self-recitation, Test, Preview, Question, Read

(C) Preview, Question, Read, Self-recitation, Test

(D) Read, Self-recitation, Test, Preview, Question

~ohVa ñ‘¥{V ~ZmE aIZo Ho$ {bE N>mÌm| H$s ‘XX hoVw aUZr{V Ho$ ghr H«$‘ H$s nhMmZ H$a| :

(A) nydm©dbmoH$Z, nR>Z, AmË‘-nR>Z, narjm, àíZ

(B) AmË‘-nR>Z, narjm, nydm©dbmoH$Z, àíZ, nR>Z

(C) nydm©dbmoH$Z, àíZ, nR>Z, AmË‘-nR>Z, narjm

(D) nR>Z, AmË‘-nR>Z, narjm, nydm©dbmoH$Z, àíZ
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11. If someone needs a pillow, but there is no pillow around except a sheet.
He may not see how the sheet can be folded to be used as a pillow. This
is due to

(A) mental set (B) daily practice

(C) functional fixedness (D) mental modals 1

AJa {H$gr H$mo V{H$¶m Mm{hE bo{H$Z CgHo$ nmg MmXa Ho$ Abmdm H$moB© V{H$¶m Zht h¡, Vmo hmo gH$Vm
h¡ {H$ Cgo ¶h g‘P ‘| Z AmE {H$ MmXa H$mo ‘mo‹S>H$a V{H$E H$s Vah H¡$go BñVo‘mb {H$¶m Om gH$Vm
h¡& Eogm _____ Ho$ H$maU hmoVm h¡&

(A) ‘mZ{gH$ goQ> (B) X¡{ZH$ Aä¶mg

(C) H$m¶m©Ë‘H$ pñWaVm (D) ‘mZ{gH$ Vm¡a-VarH$m|

12. When a number of motionless pictures are presented in a quick succession
one after the other, they appear to be moving. This illusion is called

(A) the Poggendorff illusion

(B) the Zollner illusion

(C) the Ponzo illusion

(D) the apparent movement illusion 1

O~ H$B© pñWa {MÌ EH$ Ho$ ~mX EH$ VoOr go àñVwV {H$E OmVo h¢, Vmo do MbVo hþE àVrV hmoVo h¢&
Bg ^«‘ H$mo H$hm OmVm h¡

(A) nmoJoZS>m°’©$ ^«‘

(B) OmoëZa ^«‘

(C) nm|Omo ^«‘

(D) {XImB© XoZo dmbm MbZ ^«‘

13. The processes involved in transforming sensation to perception is called

(A) sensation (B) perception

(C) transduction (D) attention 1

g§doXZm H$mo YmaUm ‘| ~XbZo ‘| em{‘b à{H«$¶mAm| H$mo H$hm OmVm h¡

(A) g§doXZm (B) AZw^y{V/àË¶jU

(C) à{V^mg (D) AdYmZ
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14. Anorexia nervosa is a disorder where the individual

(A) starves oneself to remain thin

(B) eats lavishly and then self induce vomiting

(C) indulges in unhealthy eating and excessive dieting

(D) eats things like chalk, etc., that are not food 1

EZmoaop³g¶m Zdm}gm EH$ {dH$ma h¡, {Og‘| ì¶{º$

(A) nVbm ahZo Ho$ {bE IwX H$mo ^yIm aIVm h¡

(B) Iy~ ImVm h¡ Am¡a {’$a IwX hr CëQ>r H$aVm h¡

(C) AñdmñÏ¶H$a ^moOZ Am¡a AË¶{YH$ S>mBqQ>J ‘| {bá hmoVm h¡

(D) MmH$ Am{X O¡gr MrO| ImVm h¡ Omo ^moOZ Zht h¢

15. Identify the statement that is not true to socioemotional development in
children. 1

(A) Ability to climb mountains

(B) Ability to interact with others

(C) Ability to judge the emotional reactions of others

(D) Ability to understand and manage one’s own emotions

~ƒm| Ho$ gm‘m{OH$-^mdZmË‘H$ {dH$mg Ho$ g§~§Y ‘| Cg H$WZ H$s nhMmZ H$a|, Omo gË¶ Zht h¡&

(A) nhm‹S>m| na M‹T>Zo H$s j‘Vm

(B) Xÿgam| Ho$ gmW ~mVMrV H$aZo H$s j‘Vm

(C) Xÿgam| H$s ^mdZmË‘H$ à{V{H«$¶mAm| H$m AmH$bZ H$aZo H$s j‘Vm

(D) AnZr ^mdZmAm| H$mo g‘PZo Am¡a à~§{YV H$aZo H$s j‘Vm

16. A small child feels that the moon follows her everywhere because it cares
for her like a family member. This is due to

(A) centration (B) animism

(C) conservation (D) egocentrism 1
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EH$ N>moQ>o ~ƒo H$mo Eogm bJVm h¡ {H$ Mm±X ha OJh CgH$m nrN>m H$aVm h¡ ³¶m|{H$ dh n[adma Ho$ gXñ¶m|
H$s Vah CgH$m »¶mb aIVm h¡& Eogm _____ Ho$ H$maU hmoVm h¡&

(A) H|$ÐrH$aU (B) OrddmX

(C) g§ajU (D) Ah§H|${ÐVVm

17. A child adjusts his schema to fit in new information and experiences.
Identify this process of actively constructing his cognitive world. 1

(A) Accommodation (B) Organization

(C) Equilibration (D) Assimilation

EH$ ~ƒm ZB© OmZH$mar Am¡a AZw^dm| ‘| {’$Q> H$aZo Ho$ {bE AnZr ¶moOZmAm| H$mo g‘m¶mo{OV H$aVm h¡&
AnZr g§kmZmË‘H$ Xþ{Z¶m H$mo g{H«$¶ ê$n go g§aMZmË‘H$ ~ZmZo H$s Bg à{H«$¶m H$mo nhMmZ|&

(A) g‘m¶moOZ (B) g§JR>Z

(C) g§VwbZ (D) AmË‘gmV H$aZm

18. Guri, an infant, grasps anything that touches his palm. Identify this reflex. 1

(A) Rooting (B) Moro

(C) Sucking (D) Grasping

Jwar, EH$ {eew, O~ ^r H$moB© CgH$s hWobr H$mo Ny>Vm h¡, Vmo dh Cgo nH$‹S> boVm h¡& Bg à{VdV©
([aâbo³g) H$mo nhMmZ|&

(A) ê$qQ>J (B) ‘moamo

(C) MygZm (D) J«¡g²qnJ

19. At which stage of cognitive development, the children are able to do
abstract thinking and are able to think logically? 1

(A) Formal operational (B) Preoperational

(C) Sensory motor (D) Concrete operational

g§kmZmË‘H$ {dH$mg H$s {H$g AdñWm ‘| ~ƒo A‘yV© qMVZ H$aZo ‘| gj‘ hmoVo h¢ Am¡a Vm{H©$H$ ê$n
go gmoMZo ‘| gj‘ hmoVo h¢?

(A) Am¡nMm[aH$ g§{H«$¶mË‘H$ (B) nyd©-g§{H«$¶mË‘H$

(C) g§doXr Jm‘H$ (D) ‘yV© g§{H«$¶mË‘H$
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20. Which of the following is true for learning? 1

(A) Learning refers to a permanent change in behaviour due to schooling
only

(B) Learning refers to a relatively permanent change in behaviour due to
training or experience

(C) Learning refers to a temporary change in behaviour due to training or
experience

(D) Learning refers to no change in behaviour due to training or
experience

{ZåZ{b{IV ‘| go H$m¡Z-gm grIZo Ho$ {df¶ ‘| gË¶ h¡?

(A) grIZm Ho$db ñHy$br {ejm Ho$ H$maU ì¶dhma ‘| AmZo dmbo ñWm¶r n[adV©Z H$mo g§X{^©V
H$aVm h¡

(B) grIZm à{ejU ¶m AZw^d Ho$ H$maU ì¶dhma ‘| hmoZo dmbo ñWm¶r n[adV©Z H$mo g§X{^©V
H$aVm h¡

(C) grIZm à{ejU ¶m AZw^d Ho$ H$maU ì¶dhma ‘| hmoZo dmbo AñWm¶r n[adV©Z H$mo g§X{^©V
H$aVm h¡

(D) grIZo go VmËn¶© à{ejU ¶m AZw^d Ho$ H$maU ì¶dhma ‘| H$moB© n[adV©Z Z hmoZm h¡

21. Identify the leadership theory in the following statements : 2

(a) Great leaders are born and have a unique background which makes
them different from the followers.

(b) Individual associated with certain personality traits like intelligence,
self-confidence, creativity, integrity, etc., has the tendency to lead
others.

{ZåZ{b{IV H$WZm| Ho$ ZoV¥Ëd {gÕm§V H$s nhMmZ H$a| :

(H$) ‘hmZ ZoVm OÝ‘OmV hmoVo h¢ Am¡a CZH$s n¥ð>^y{‘ {d{eï> hmoVr h¡ Omo CÝh| AZw¶m{¶¶m| go AbJ
~ZmVr h¡&

(I) ~w{Õ‘Îmm, AmË‘{dídmg, aMZmË‘H$Vm, B©‘mZXmar Am{X O¡go ì¶{º$Ëd bjUm| go Ow‹S>o ì¶{º$ ‘| Xÿgam|
H$m ZoV¥Ëd H$aZo H$s àd¥{Îm hmoVr h¡&
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22. Identify the trait theorists with the theories given below : 2

(a) This trait theorist distinguished between the observable behaviour
and underlying internal tendencies that produce that behaviour.

(b) This theorist assumed that there are central traits that each individual
possesses.

ZrMo {XE JE {gÕm§Vm| Ho$ AmYma na JwU-bjU {gÕm§VH$mam| H$s nhMmZ H$a| :

(H$) Bg JwU-bjU {gÕm§VH$ma Zo AdbmoH$Zr¶ ì¶dhma Am¡a Cg ì¶dhma H$mo CËnÞ H$aZo dmbr
A§V{Z©{hV Am§V[aH$ àd¥{Îm¶m| Ho$ ~rM A§Va {H$¶m&

(I) Bg {gÕm§VH$ma Zo ¶h ‘mZm {H$ àË¶oH$ ì¶{º$ Ho$ nmg Hw$N> H|$Ðr¶ JwU hmoVo h¢&

23. The following data shows marks obtained by 10 students in a Mathematics
test :

30, 50, 60, 25, 50, 70, 80, 50, 75, 50

(a) Calculate the mode for the data given above.

(b) Calculate the mean for the data given above. 2

{ZåZ{b{IV Am±H$‹S>o J{UV H$s EH$ narjm ‘| 10 N>mÌm| Ûmam àmá A§H$m| H$mo Xem©Vo h¢ :

30, 50, 60, 25, 50, 70, 80, 50, 75, 50

(H$) D$na {XE JE S>oQ>m Ho$ {bE ~hþbH$ H$s JUZm H$a|&

(I) D$na {XE JE S>oQ>m Ho$ {bE ‘mÜ¶ H$s JUZm H$a|&

24. Identify the type of intelligence each individual possesses, in the following
cases, using Gardner’s theory of intelligence : 1×4=4

(a) Richa, a poet, can use language fluently and is word smart.

(b) Mona, a Mathematics teacher, can think logically and can engage in
abstract reasoning.

(c) Rohit, a gymnast, excels in using his whole body to create postures.

(d) Rishi, a table player, can produce and create musical patterns.
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{ZåZ{b{IV ‘m‘bm| ‘| àË¶oH$ ì¶{º$ ‘| {H$g àH$ma H$s ~w{Õ h¡, JmS>©Za Ho$ ~w{Õ {gÕm§V Ho$ AmYma
na nhMmZ H$a| :

(H$) [aMm, EH$ H$d{¶Ìr h¡ Am¡a ^mfm H$m Ymam àdmh à¶moJ H$a gH$Vr h¡ VWm eãXm| na CgH$s AÀN>r
nH$‹S> h¡&

(I) ‘moZm, EH$ J{UV {e{jH$m h¡ Omo Vm{H©$H$ ê$n go gmoM gH$Vr h¡ Am¡a A‘yV© VH©$ ‘| g§b¾ hmo
gH$Vr h¡&

(J) amo{hV, EH$ {O‘ZmñQ> h¡ Omo AmgZ ~ZmZo Ho$ {bE AnZo nyao eara H$m Cn¶moJ H$aZo ‘| ‘m{ha h¡&

(K) F${f, EH$ Q>o~b ßbo¶a h¡ Omo g§JrV n¡Q>Z© H$m {Z‘m©U Am¡a aMZm H$a gH$Vm h¡&

25. In the following cases, identify the factors that are leading to attitude
change from the choices given below : 1×4=4

( Message characteristics; source credibility; target characteristics;
source attractiveness )

(a) A doctor telling about the importance of regular exercise and walk,
will help in changing attitude of the residents towards fitness.

(b) People who are flexible and open to new thoughts change attitude
more easily.

(c) A young adolescent girl uses a particular brand of cream, as the
beautiful model whom she idolizes also uses the same product.

(d) A cooking oil company sells the product with the catch line ‘Buy this
cooking oil if you care for the health of your family’.

{ZåZ{b{IV ‘m‘bm| ‘| ZrMo {XE JE {dH$ënm| ‘| go CZ H$maH$m| H$s nhMmZ H$a| Omo A{^d¥{Îm ‘| n[adV©Z
H$m H$maU ~Zo h¢ :

( g§Xoe {deofVmE±; òmoV {dídgZr¶Vm; bú¶ {deofVmE±; òmoV AmH$f©U )

(H$) {Z¶{‘V ì¶m¶m‘ Am¡a g¡a Ho$ ‘hÎd Ho$ ~mao ‘| ~VmZo dmbo S>m°³Q>a go {Zdm{g¶m| H$s ñdñWVm Ho$
à{V A{^d¥{Îm ~XbZo ‘| ‘XX {‘boJr&

(I) Omo bmoJ bMrbo hmoVo h¢ Am¡a ZE {dMmam| Ho$ à{V Iwbo hmoVo h¢, do A{YH$ AmgmZr go AnZr
A{^d¥{Îm ‘| n[adV©Z bo AmVo h¢&

(J) EH$ ¶wdm {H$emoar EH$ {deof ~«m§S> H$s H«$s‘ H$m Cn¶moJ H$aVr h¡, ³¶m|{H$ {Og Iy~gyaV ‘m°S>b
H$mo dh AnZm AmXe© ‘mZVr h¡, dh ^r Cgr CËnmX H$m Cn¶moJ H$aVr h¡&

(K) EH$ ImZm nH$mZo dmbo Vob H$s H§$nZr Bg AmH$f©H$ bmBZ Ho$ gmW CËnmX ~oMVr h¡, "¶{X Amn
AnZo n[adma Ho$ ñdmñÏ¶ H$s nadmh H$aVo h¢, Vmo ¶h ImZm nH$mZo H$m Vob IarX|'&
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26. Fill in the blanks with the correct answer : 1×4=4

(a) Decrease in performance of an individual when performing an activity
as part of a group rather than when alone is due to _____.

(b) When an individual’s performance is improved by the presence of
others is called _____.

(c) When group members try to maintain the unity of the group
rather than taking correct decisions and rational judgements, it is
called _____.

(d) Tendency of the group to take extreme actions rather than initial
actions or decisions of the individual members is called _____.

ghr CÎma go [aº$ ñWmZ H$s ny{V© H$a| :

(H$) _____ Ho$ H$maU AHo$bo {ZînmXZ H$aZo H$s VwbZm ‘|, EH$ g‘yh Ho$ {hñgo Ho$ ê$n ‘| H$moB© J{V{d{Y
H$aZo na ì¶{º$ Ho$ {ZînmXZ ‘| H$‘r AmVr h¡&

(I) O~ {H$gr ì¶{º$ H$m {ZînmXZ Xÿgao H$s CnpñW{V go ~ohVa hmoVm h¡, _____ H$hbmVm h¡&

(J) O~ g‘yh Ho$ gXñ¶ ghr {ZU©¶ Am¡a Vm{H©$H$ {ZU©¶ H$s VwbZm ‘| g‘yh H$s EH$Vm ~ZmE aIZo
H$m à¶mg H$aVo h¢, _____ h¡&

(K) g‘yhm| H$s ì¶{º$JV gXñ¶m| Ho$ àma§{^H$ H$m¶m] ¶m {ZU©¶m| Ho$ ~Om¶ AË¶{YH$ H$m¶©dmhr ¶m {ZU©¶
boZo H$s àd¥{Îm _____ H$hbmVr h¡&

27. Match the following : 1×4=4

Kind of self Characteristics

(a) Self-esteem (i) Positive or negative thoughts about
oneself

(b) Self-efficacy (ii) The self that one strives to be though
may not achieve

(c) Self-concept (iii) It is the sum of all positive evaluations

(d) Ideal self (iv) A person high on this will take up
challenges and spend time and effort
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{ZåZ{b{IV H$m {‘bmZ H$a| :

AmË‘ Ho$ àH$ma {deofVmE±

(a) AmË‘-gå‘mZ (i) ñd¶§ Ho$ ~mao ‘| gH$mamË‘H$ ¶m ZH$mamË‘H$ {dMma

(b) AmË‘-à^mdH$m[aVm (ii) ì¶{º$ {Og ñd H$mo àmá H$aZo H$m à¶mg H$aVm h¡, dh ^bo
hr àmá Z hmo

(c) AmË‘-AdYmaUm (iii) ¶h g^r gH$mamË‘H$ ‘yë¶m§H$Zm| H$m ¶moJ h¡

(d) AmXe© ñd (iv) Bg Cƒ ñVa na ì¶{º$ MwZm¡{V¶m| H$mo ñdrH$maoJm, g‘¶

XoJm Am¡a à¶mg H$aoJm

28. Identify the principle of perceptual organization from the statements given
below : 1×4=4

(a) We tend to fill in the gaps and perceive objects as whole rather than
their separate parts.

(b) We tend to perceive objects as belonging together if they appear to
form continuous pattern.

(c) Objects that are close together in space or time are perceived as
belonging together.

(d) Objects that are similar to each other are perceived as a group.

ZrMo {XE JE H$WZm| go AdYmaUmË‘H$ g§JR>Z Ho$ {gÕm§V H$s nhMmZ H$a| :

(H$) h‘ A§Vamb H$mo ^aZo H$m à¶mg H$aVo h¢ VWm dñVwAm| H$mo CZHo$ AbJ-AbJ ^mJm| ‘| XoIZo
Ho$ ~Om¶ g§nyU© ê$n ‘| XoIVo h¢&

(I) h‘ dñVwAm| H$mo Amng ‘| g§~§{YV ‘mZVo h¢ ¶{X do {Za§Va n¡Q>Z© ~ZmVr hþB© àVrV hmoVr h¢&

(J) ñWmZ ¶m g‘¶ ‘| EH$-Xÿgao Ho$ {ZH$Q> pñWV dñVwAm| H$mo EH$-Xÿgao go g§~§{YV ‘mZm OmVm h¡&

(K) EH$-Xÿgao Ho$ g‘mZ dñVwAm| H$mo EH$ g‘yh Ho$ ê$n ‘| XoIm OmVm h¡&
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29. Fill in the blanks with the correct words : 1×4=4

(a) Data collected by the researcher in an unorganized form is called
_____ data.

(b) Data that is represented singularly and then arranged in ascending or
descending order is called _____ series.

(c) When the frequency of observations is taken to organize the data,
_____ series can be prepared.

(d) _____ bars are used in a frequency table to represent every single
entry.

[aº$ ñWmZm| H$s ghr eãX go ny{V© H$a| :

(H$) emoYH$Vm©Am| Ûmam Ag§J{R>V ê$n go EH${ÌV Am±H$‹S>m| H$mo _____ Am±H$‹S>o H$hm OmVm h¡&

(I) S>oQ>m H$mo EH$b ê$n ‘| àX{e©V H$aHo$ Amamohr ¶m Adamohr H«$‘ ‘| ì¶dpñWV H$aZo H$mo _____

ûm§¥Ibm H$hm OmVm h¡&$

(J) O~ Am±H$‹S>mo| H$mo ì¶dpñWV H$aZo Ho$ {bE àojUm| H$s Amd¥{Îm br OmVr h¡, Vmo _____ ûm§¥Ibm
V¡¶ma H$s Om gH$Vr h¡&

(K) àË¶oH$ à{d{ï> H$mo Xem©Zo Ho$ {bE _____ ~ma H$m Cn¶moJ Amd¥{Îm Vm{bH$m ‘| {H$¶m OmVm h¡&

SECTION—B

IÊS>—I

30. (a) How does the Yerkes-Dodson law explain the relationship between
arousal and performance? 2

¶H}$g-S>moS>gZ {Z¶‘ CÎmoOZm Am¡a àXe©Z Ho$ ~rM g§~§Y H$s ì¶m»¶m H¡$go H$aVm h¡?

Or / AWdm

(b) How can one overcome hindrances in problem solving?

g‘ñ¶m g‘mYmZ ‘| AmZodmbr ~mYmAm| na H$m~y H¡$go nm¶m Om gH$Vm h¡?
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31. How is egocentrism reflected in adolescents? 2

{H$emoam| ‘| Ah§Ho$pÝÐVVm {H$g àH$ma à{Vq~{~V hmoVr h¡?

32. (a) Man is a social being and the environment that he lives in is
important for his well-being. But there are certain social factors that
lead to poor mental health. Discuss these factors. 2

‘Zwî¶ EH$ gm‘m{OH$ àmUr h¡ Am¡a {Og dmVmdaU ‘| ahVm h¡ dh CgHo$ ñdmñÏ¶ Ho$ {bE ‘hÎdnyU©
h¡& bo{H$Z Hw$N> gm‘m{OH$ H$maH$ ^r h¢ Omo Iam~ ‘mZ{gH$ ñdmñÏ¶ Ho$ {bE CÎmaXm¶r h¢& BZ
H$maH$m| na MMm© H$a|&

Or / AWdm

(b) Manish, a young soldier, has just returned from the border, where in
a terrorist encounter he would have lost his life if he had not
retaliated. Now he is having acute stress thinking about the incident.
Identify the disorder and the symptoms associated with it.

‘Zrf, EH$ ¶wdm g¡{ZH$, hmb hr ‘| gr‘m go bm¡Q>m h¡, Ohm± EH$ AmV§H$dmXr ‘wR>^o‹S> ‘| AJa
CgZo Odm~r H$m¶©dmhr Zht H$s hmoVr Vmo CgH$s OmZ ^r Om gH$Vr Wr& A~ dh Bg KQ>Zm H$mo
gmoMH$a ~hþV VZmd ‘| h¡& Bg {dH$ma Am¡a Cggo Ow‹S>o bjUm| H$mo nhMmZ|&

33. Your younger siblings are entering adolescence stage. What challenges
they should be ready to face? 2

AmnHo$ N>moQ>o ~{hZ-^mB© {H$emoamdñWm ‘| àdoe H$a aho h¢& CÝh| {H$Z MwZm¡{V¶m| H$m gm‘Zm H$aZo Ho$ {bE
V¡¶ma ahZm Mm{hE?

34. (a) What is the difference between introverts and extroverts as given
by Jung? 2

¶w§J Ûmam A§V‘w©Ir Am¡a ~{h‘w©Ir Ho$ ~rM ³¶m A§Va ~Vm¶m J¶m?

Or / AWdm

(b) What is the difference between self-efficacy and self-esteem?

AmË‘-à^mdH$m[aVm Am¡a AmË‘-gå‘mZ Ho$ ~rM ³¶m A§Va h¡?
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35. Why is mental health an essential entity for an individual? 2

{H$gr ^r ì¶{º$ Ho$ {bE ‘mZ{gH$ ñdmñÏ¶ ³¶m| Amdí¶H$ VÎd h¡?

36. Strategically placing products on shelves to influence buying decisions of
the customer is an example of how economics and psychology are related.
Explain this relationship. 3

J«mhH$m| Ho$ H«$¶ {ZU©¶m| H$mo à^m{dV H$aZo Ho$ {bE CËnmXm| H$mo aUZr{VH$ ê$n go Ab‘m[a¶m| na aIZm,
AW©emó Am¡a ‘Zmo{dkmZ Ho$ ~rM g§~§Y H$m EH$ CXmhaU h¡& Bg g§~§Y H$mo ñnï> H$a|&

37. (a) Rajesh keeps checking the door to see if it is latched well or not.
This has led to sleepless nights. Identify Rajesh’s disorder and the
symptoms of the disorder. 3

amOoe ~ma-~ma XadmOm MoH$ H$aVm ahVm h¡ {H$ XadmOm R>rH$ go ~§X h¡ ¶m Zht& Bg dOh go
CgH$s amVm| H$s ZtX C‹S> JB© h¡& amOoe Ho$ ‘Zmo{dH$ma Am¡a {dH$ma Ho$ bjUm| H$mo nhMm{ZE&

Or / AWdm

(b) You have been told to spread awareness about mental health and its
causes. What are the three ways in which you can promote mental
health activities in your school?

AmnH$mo ‘mZ{gH$ ñdmñÏ¶ Am¡a BgHo$ H$maUm| Ho$ ~mao ‘| OmJê$H$Vm ’¡$bmZo Ho$ {bE H$hm J¶m h¡&
Eogo H$m¡Z-go VrZ VarHo$ h¢, {OZgo Amn AnZo ñHy$b ‘| ‘mZ{gH$ J{V{d{Y¶m| H$mo ~‹T>mdm Xo
gH$Vo h¢?

38. (a) Why are substance use and drugs harmful for the young adolescents? 3

¶wdmAm| Ho$ {bE ‘mXH$ Ðì¶m| Am¡a S´>½g H$m godZ hm{ZH$maH$ ³¶m| h¡?

Or / AWdm

(b) How are cognitive attainments reflected during concrete operational
stage?

‘yV© g§{H«$¶mË‘H$ MaU Ho$ Xm¡amZ g§kmZmË‘H$ CnbpãY¶m± {H$g àH$ma à{Vq~{~V hmoVr h¢?
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39. (a) Describe the three major types of research designs used by
psychologists for research investigation. 3

emoY narjU Ho$ {bE ‘Zmod¡km{ZH$m| Ûmam Cn¶moJ {H$E OmZo dmbo VrZ à‘wI àH$ma Ho$ emoY {S>OmBZm|
H$m {ddaU X|&

Or / AWdm

(b) How are quasi and field experiment conducted by the researcher?

emoYH$Vm© Ûmam AY© Am¡a joÌ à¶moJ H¡$go g§Mm{bV {H$E OmVo h¢?

40. (a) How do teachers view giftedness and what do they do to help gifted
children achieve full potential? 3

{ejH$ à{V^m H$mo {H$g àH$ma XoIVo h¢ VWm à{V^membr ~ƒm| H$mo CZH$s nyU© j‘Vm àmá H$aZo
‘| ghm¶Vm H$aZo Ho$ {bE do ³¶m H$aVo h¢?

Or / AWdm

(b) How can intelligence quotient be calculated?

~w{Õ bpãY (IQ) H$s JUZm H¡$go H$s Om gH$Vr h¡?

41. What is anxiety disorder? Explain any two types of anxiety disorder. 3

qMVm {dH$ma ³¶m h¡? qMVm {dH$ma Ho$ {H$Ýht Xmo àH$mam| Ho$ ~mao ‘| ~VmE±&

42. (a) Discuss any five barriers to sound decision-making. 1×5=5

ghr {ZU©¶ boZo ‘| AmZo dmbr {H$Ýht nm±M ~mYmAm| H$s MMm© H$a|&

Or / AWdm

(b) What are the characteristics of creative thinkers? Explain any five. 5

aMZmË‘H$ qMVH$mo| H$s ³¶m {deofVmE± hmoVr h¢? {H$Ýht nm±M H$s ì¶m»¶m H$a|&



43. Problem solving is goal directed behaviour which involves effort to choose
among various responses in order to attain the desired goals. Explain the
various stages of problem solving to attain the desired goals with the help
of an example. 5

g‘ñ¶m g‘mYmZ bú¶-{ZX}{eV ì¶dhma h¡ {Og‘| dm§{N>V bú¶m| H$mo àmá H$aZo Ho$ {bE {d{^Þ
à{V{H«$¶mAm| ‘| go M¶Z H$aZo H$m à¶mg em{‘b hmoVm h¡& EH$ CXmhaU H$s ghm¶Vm go dm§{N>V bú¶
àmá H$aZo Ho$ {bE g‘ñ¶m g‘mYmZ Ho$ {d{^Þ MaUm| H$s ì¶m»¶m H$a|&

44. How does attitude change take place? 5

A{^d¥{Îm ‘| n[adV©Z H¡$go hmoVm h¡?

45. (a) How do effective strategies help in maintaining health and hygiene?
Suggest any five strategies. 5

ñdmñÏ¶ Am¡a ñdÀN>Vm ~ZmE aIZo ‘| à^mdr aUZr{V¶m± {H$g àH$ma ghm¶H$ hmoVr h¢? H$moB© nm±M
aUZr{V¶m± gwPmE±&

Or / AWdm

(b) How are psychological factors responsible for poor mental health?
Discuss any five factors.

Iam~ ‘mZ{gH$ ñdmñÏ¶ Ho$ {bE ‘Zmod¡km{ZH$ H$maH$ {H$g àH$ma CÎmaXm¶r h¢? {H$Ýht nm±M H$maH$m|
na MMm© H$a|&


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